1.

Which of the following statements is/are true ?
A. Smt. Sudha Murty was nominated to the Rajya Sabha by the President of India in March 2024

B. Smt. Sudha Murty is a writer in Kannada language,

C. Smt. M. Bhargavan Snehalatha was appbinted as a Supreme Court Judge by the President of
India in April 2024, &

Choose the correct answer : {d

(1) Conly

(3) A and C only

808 550" DA/ 2y, ?

A 3508 5 Srd S8 2024 & a8 TMQQ O3 D580 TTES T,

B. 308 Jrgr Sord $)65 e,mes‘ sSan @, &)
C. 78S DRI DS 2024 &S BB AD. PSS D) T8y (0 F 505008 AOHMHOTTED-

DB DSPEFaTD) JODE TowSm :
(1) C S»|e53Dd (2) A BN B SriehadH

3) A SHBO% C STS 4 A, BSH8aw C
Match the following Chief Executive Officers (CEOs) with their companies, as of November 2024 :

Fed

off (2) Aand B only
# 4 A BandC
u;

CEO Company
A. Sundar Pichai I. Adobe
B. Satya Nadella II. IBM 0
C. Shantanu Narayen III. Google -
D. Arvind Krishna IV. Microsoft L

Choose the correct answer : 4]
(1) A-IIL; B-IV; C-I; D-II O (9) AJIL BIV: C-IL: D-I
(3) A-IV; B-III; C-I; D-II (4) A-IIIL; B-I; C-IV; D-II

S5025 2024 T°¢38, 808 SWPS ST HTE QT WO (CEOs) 36 H0POS' 2365 HE W :

5O ST 158 €9B35°8 . oy
A, D0&D @YD I o885
B. debg Ty II. 9.8. dev.
C. 0SSN T aNHD I S
D. @8J08 )R IV. DETD
AB AIPETTR) DOTHEW : Ej
(p A-IL B-IV; C-I; D-II o (2) A-III; B-IV; C-II; DI
(3) A-1V; B-III; C-I; D-II j«, (4) A-III B-I; CIV; D-II

The Nobel Prize in Physiology for the year w4 was awarded to two scientists for :
(1) discoveries concerning genomes of extingtthominins and human evolution
(2) discovery of microRNA and its role in pd‘ﬂ transcriptional gene regulation

(8) discovery of Hepatitis C virus J

(4) discoveries of receptors for temperature(@d touch
2024 HOSSITVE Sy $8882 (R0 (phys,lology)eS6 P PAIBOH B FIEH FBS 2IVDB

S ?
(1) @0S$80DNFNS FWA (hominins) HOAN I JBETN0 TBWEY BREIOZ DoDOBODS

TR PTeI AN
@) DS 8BS D88 OGN Y - (ErSYERSS 8 o0’ ) (e

(3) TIBER C DGR &2 8080
(4) &EFHes DO D)) 80 (Mrsre esdN SO
Eéﬁl

(2)




Consider the following statements in relation to India’s performance at Paris Paralympic Games

2024 :
A. India won a total of 29 medals, including 7 gold, 9 silver and 13 bronze.

B. India secured 14 place among participating nations.

Which of the above statements is/are correct ?

(1) Bonly (2) Aonly

(3) Neither A nor B (4) Both A and B

2024 & FOVS DB5ErovDAS PEODE Eseres wrESTH (DOGIIN HOROROL 1806 &smsesy

HOHES 0T : r
A rESTHO T DG DS, 9 S dTen. ::»aos» 13 FODS HSTOS IS0 29 HSTOL FEONOL,

B. W) BFoS erds$Eso 14 & o), r\’a'@o&o&

2 F5D50S QO SOTJIA/D ? off
(1) B 3D “‘f @) A SIS

(3) A SHBOSW B DO 5% {j" @) ASBONB fololaVy

The newly elected President of Sri Lanka (éeptember, 2024) Anura Kumara Dissanayake belongs to
which political party ?

(1) Samagi Jana Bolovegaya

(8) Sri Lanka Podujana Peramuna
SFSISOT IDYIS B0 @PFHD (D o,goa)5 2024) €S §)&35°é AJ)TONE D Tzloh O

TOAITED ?
m @ OHTBE 2SS >

(1) S 28 SoIEAH
@) D08 EES DEINS ;:@ @ mSE DI DEIS

(2) United National Party
(4) Janatha Vimukthi Peramuna

Which of the following statements are true ng%'elatlon to Oscar Awards 2024 ?
A. Cillian Murphy won the Best Supportlnéf@ctor award for the movie ‘Oppenheimer’.

B. Emma Stone won the Best Actress award for the movie ‘Poor Things’.

C. Christopher Nolan won the Best Actor award.
D. ‘The Last Repair Shop’ won the Best Documentary Short Film award.

Choose the correct answer : —
(1) A, C and D only 1':} (2) A and C only
(3) B, C and D only ¢, 4 BandD only

a6 HEIoeD 2024 K H020G0D (808 (Q;snge)é‘ DD 8D,
A EDSTTHE BASFE D DOADS 06y FSS DA é&n& og)éa)v&ov:ol BeNTDET?) .
B. 237 &S 556 dohy € DT 65855}5 563 @ RenHgood.

C. 18FHB S e Send HOVLT R ﬁéﬁ?zlﬁsmav;c@

D. 5 erD 5B rD &S @Esod ©a DS HEIYTR) Fenhsrod.

DB DSTEFTR), ODE TIARVS :
(1) A, C 805 D Sr(ehad (@) ASBO%N C S
(8)/B, C 805 D S5 4 B SO0 D S| | g

E (3) E‘é%



Y

; true ?
Which of the following statements is/2"® ISRO) ission Di
itk s Organization ( successfully launched the mission Divyastra ip

March 2024, 3 : . :
B. The latest variant of Agni-5 missile is equipped with MIRV (Multiple Independently Targetable

Re-entry Vehicle) technology-
C. India is the first country to have
D. Agni-5 is a cruise missile.
Choose the correct answer :

MIRV-equipped missile.

(1) B only (2)}»;;{\ and B only
(3) A,B, C and D (4) “:;p only
808 & sp506° D6/ 5, 7 o

VA A YA “‘t v, v,
A 38 2024 &° gr8S @0SBE HOTER® DOY (ISRé)}&lm(S A$ Q8 DeBOHSOSOT (HTFAOD0E,

B. & Sréde eofl)-5 § 563, 50¢ O g0l ofs 6(5‘{5}&))&:@33% > (Multiple Independently Targetable
Re-entry Vehicle) ro8a8e0 §OA es0&. &
C. I I5e0(e5 ©F STHS Yt (DSF 75T OTBES EORS 8963 &) Inncses To ers .

D. ef)-5 2.8 $ronet (cruise) § 963

QOB DAPETRR), DOE TOHOSW :
(1) B Sr(e83d (@) (A DOAN B S35
@ A, B, C 80 D (4) 5C S
Match the following in relation to the 70t Nationaligilm Awards, 2024 :
Category Awar: d::r
A. Best feature film L Rishab/Shetty
B. Best actor II. Kantarg
C. Best director III Aattafi)
D. Best popular film IV.  Salil Chowdhury
\% Sooraj Barjatya
Choose the correct answer :
(1) A-III; B-V; C-IV; D-II - (2) A-II; B-I; C-IV; D-III
(3) A-IIL; B-L; C-V; D-II (4)__A-IIL; B-IV; C-V; D-II
70 &S 270D SOSD(& BTN, 2024 Sy éoao%@!ﬁ) &3 1808 7¢3Q SIS
F6n6 o O .
A &GS DS D$o L B2 e i‘é
B. &S5 Sench I sows 4
C. &S &SSHoch I e&o en
D. & (Dsng Do IV. 56 8.

V. rses aS%g

QBN ASIFETRTR) DOTVETDHR
(1) A-IL B-V: C-1IV; D-II ok AIL BL CAV; DI
(3) A-IIL; B-I; C-V; D-IT (4) AJIL B-IV; C-V; DI

E%@
(4) : K.




10.

ich of the following statem :
Whic ents is/are tyyq in relation to Nari Shakti Vandan Adhiniyam, 2023 ?

A. Nari Shakti ol
i lli , 2023 l -thi f total seats for women i
f Parliament and state legislative assemblies
he Houses 0 sse .

B. It was the 104® Constitutional Amenq

Choose the correct answer : ment Act,
(1) Bonly
(3) Neither A nor B (2) A only
(4)., Both Aand B

f 55’%{? Zii&?ﬁfé?j)ézoin% ig) 000D fon ‘QJSQJSOGSG DE/DD 8Dy, ?
3 ma) ,,}.» 9 . a
b 3§ 5085 ©BIMDS 2023 aggﬁg %?)Oégfgse;soé‘ Dirge 13 308 S 6253 Fatred

£ %
1f

B. 28 104 T°e500 Hedden W&o, ol
58S DSTETTR), JOTHE 050 : It
(1) B moLéa) (R
| @), A S
3) A 0O B Bodhr 5% (4;';’ A 33>6Lo$» B Bo&r

Which of t!le following statements are correct Wigﬁ)regard to ‘Khelo India Youth Games 2023’ which
were held in January 2024 ?

A. They were held in four cities of Tamil Nadu.

B. Conventional sports such as badminton and volleyball were a part of the games.

C. This is the second time that Khelo India Youth Games were held in South India.

D. ’zl‘(l)'ggitional sports such as kabaddi and yogasana were part of the Khelo India Youth Games
Choose the correct answer :

(1) C and D only ' (2) AandBonly
(3) A, B and D only ’ (%\ A, B and C only
28556 2024 & 200 PS' ROAST LTS Ay é elo India Youth Games) 2023’ & 0020800 808

F5IOS’ DD OBID ? P
A A SWETHSD Trenth Stovod somow. LY |
B. 2rsB068 805w TS $0e3 Holderod [§dy 8 By ' 2.8 gromr eamyow .

C. BS 20805 0 B 5§ 6 ardes THoS' 2TMh0 BE Bocss 0.
D. %28 8050 TFMOS H0¢3 oI 1Bcsen BS' 20805 o B 2023 ¢ o 5w ow.

3B DTG, DOTHERVN :
1) CHOXW D SeS$ 2) A DB B S

@) A, B 0050 D Sr(¢bad (4) A, BB C XD
Who among the following was appointed as the new Comptroller and Auditor General of India in

November 2024 ? .
(1) K. Sanjay Murthy (ﬁ)J Shashi Kant Sharma
(3) C.G. Somaiah ‘ (4)! Girish Chandra Murmu
808 B’ S50 2024 S SrSSOT &)oﬁaaaoéefgf?aé 28 SO POE e3BEE 23:58S A ?
1) 3 H0zcH 7 , @ #3508 5

- ‘ @3 AR S0l Sy

(3) .28, FDOS

Where did the 13" Ministerial Conference of ?ﬁ)e World Trade Organization (WTO) take place

during February—March 2024 ? N
: P 2) Geneva (3), Abu Dhabi (4) Belarus
(1) New Delhi ( ) 5&%? |
S 050-556 2024 & (015 e K0P (WTO) BFEs 158 Hodhe Fran 55530 286 50000
(1 S 4O @ B> 3 ®a20 0y TendlD
2 . .

E (5) &



13.

14.

15.

i d to IITs ? . ..
are true with regar IIT Delhi in Abu Dhabi iy 2023‘ G

i nts i i he first campus of
Which of the following stateme establish the
MOU 0 % -\ Zanizibar in 2023.

A. India and UAE signed an mpus i
B. IIT Madras opened its offshore €2

Choose the correct answer : [ (2) Aonly im

(1) Bonly ., (4) Both A an

(3) Neither A nor B S Q"@/;);) 8.y, ? .

DDE (IIT) &8 H020800 (808 TP 18 BBy Bncsed 0NV @ DS’ Jomye 8055@5‘&3&

IT), f Understang;
lC)&? (I : - . Oéo (Memorandum O andlng) >
&5 QZ})%’?Q EOSITIT® 2,8 2

A R080HS 2IJerseS B VS’
j:?-; e B o (IIT) HE0 S By SO song

2rSESTI0 SHO%) CSHTVE &

2023 &S° HoesEo JFow. -
B. 2023 &° s02erb & R0B0HS AVRETS
3600, )
v, VA 9. m) :
(c\;SQéB gﬁ;%va; DOE T @ ASnSS
N (;1) A H805» B Boddr

(3) A O8O B Bodkr 5%

i i tements :
Xonéﬁ,e:r;lzeﬁilzz}ﬁi;ia announced to exempt Electric Vehicles (EVs) 100% from road tax anq

registration fee. : . . .
B Thgel tax exemption for EVs is applicable to both Greater Hyderabad Municipal Corporatiop

(GHMC) and non-GHMC areas. E .
The exemption benefits are available for three years, until December 31, 2027.

C.
Which of the above statements is/are correct?

i
(1) A and B only % (2) Aonly
4+ (4) Aand Conly

(3) A,Band C 4

&3 (808 5508 (20T : &F

A D) FFTOH (EV 0%0) 100% S8 H50), 828 RAS SHnsne &$0d AIEON0FY AN €V
SOOI (HEDeS S0 (DEE30D0A. (3) ‘

B. EV 0% ) a0y ([ed 3rciorerdy S0 NS $TIBAS (00 (GHMC) 8050 GHMC
QS (o5 SGN08.

C. 003000 (DAreTen SBL) e 0T BH00E 31, 2027 S850 02N’ &oErow.

D TS’ DA/ HOTSA/D ?
(1) A SHB050 B Sr(ehadH (2) AXreD

(3] A, BSH8cs» C ' (4) A DB C Sr(evsdH

Which of the following statements is/are t e in relation to UNESCO’s Creative Cities Network ?
A. Kozhikode in Kerala was included as a ‘ifly of literature’ in 2023.

B. Jodhpur in Rajasthan was included as sz?;gity of music’ in 2023.

Choose the correct answer : T

o
g ;) ]l:othl Aand B 44 (2) Neither A nor B
) Bonly w3 (4 Aonly

OB DALY DOTHERHL -

(1) A 805w B Bocsr” |

(3) B Sr(ebad (2) A DHBAS» B Bochr 52
4) AJreddD

(6) %
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' 16.

17.

mong the following as
il 1 = Sumed  the charge as the new Cabinet, Secretary of India in

August 2024 ?
.R. Pillai
((;i gaﬁv Cl‘rafli)a (2) Dr.T.V. Somanathan
S* @) T 202 (4) M.K. Vellodi
Lf)oig‘saeﬁ w?);"o» 45 aroaty ST 08) 385 2| BB 17 27C58en  SBBODSG 575 DH% 7
((3) orede T2 (2)~ €3 3. 2. A’)"anrés
Arrange the following state
of March 2024 : o Aecending On,l? r based on number of assembly seats in each state as
A. Assam it
o
B. Telangana " t
C. Chhattisgarh o
D. Jharkhand Jug
Choose the correct answer :
(1) E,D,C,B, A (2) E,D,A,B,C 3) C.E,B,D,A 4) A C,B,D,E

Sr0) 2024 T8 (DS TROSW w0 Hey Doms eSO L§o& olares efirar 3o
SNV VRN

A. ®JJ0
B. §oon°e;>
D. dwéz,o& O
E. &Soeo&h q “m
OB DTV DODE AW P
(1) E,D,C,B,A (2 E,D,ABC LW CEBDA (49 A,C,B,D,E
Match the Artificial Intelligence (AI) tools Wlié}hen' developers :
Al Tool Developef.
A. Chat GPT - I. Apple
B. Gemini (Bard) II. Amazon
C. Alexa +III. OpenAl
IV. Google
Choose the correct answer :
(1) A-III; B-IV; C-II (2) A-IIL; B-II; C-I
(8) A-IV; B-IIL; C-II 1(4> A-III; B-L; C-IV
5D THes eSS (Artificial Intelligence i;qgls) T¢3 ErdE8e (developers) & 23¢9 HBVAW :
E)Aod> DS 088890 “cﬁws(d
A &S 2D L %}
B. 2 @9 IL. 2
C. oSw) 11 a;oso)m (OpenAl)
IV. @&5
DB DSFETRY, DOTDE W :
@ AL B-IV: C-II 2 AL BIL C-I
(3) A-IV; BIIL; C-II (4) AJIIL; B-I; C-IV
lgéﬁl

Elt-.

EI (7)
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19.

20.

i i dition of the Oceanogra

ts are true 10 relation to the seconSd e iy Conclave (G801 Phey,
Which of the following statemen der the umbrella of the Colombo Secu ?
and Hydrographers Conference % te of Oceanography in Visakhapatnam.

A. It was held in the National Iglslt;;t::)ai and Hyderabad in January 2024"
B. The Conference was held at theme of ‘Our Ocean is Our Future’.

. . . the - : ‘
](JJ‘ ]T)h f pamc;‘fantlsv[dl]s:il:rseze:nzlnAustralia participated in this Conference.
. Delegates from Ma

‘ol

Choose the correct answer :
(1) B and C only ;'1
(2) A and D only LB

"Hﬁ

(3) B, C and D only £
(4) A, C and D only 3+ .
S0 ETBES LS (CSC) 63850 280 Totss Jawle F(WBG O 2O edsapy
FI3$0 HIrBFR8 Sowodod (S0 J'S‘-’P’S@fss‘f@f) -

DT HOBOS'D HS0(E XSS 2PB0D SRS & H3rFFo 26708

A
B. 28550 2024 & T3 5000 ETerES’ & H8rBI0 26006

C. ‘S0 DIN(K0 DS BINS ©F ABIILOD & DSTrBFoS® J TS, 38 30 )oT .
D. $ren B e DO 0B (PBAGEN &8 HIFSFoeS” ¢S &.

BB OSFEERFD), JODE TS :

(1) B 5080w C Sm{essh n

(2) A 6050 D SFS 2

(3) B, C 080 D Sr{ehad 7

4 A, C 805 D (e Toi:

Which of the following statements are true an relation to North Atlantic Treaty Organization

(NATO) ? b

A. As of March 2024, NATO has 32 member cogg/tries.
B. Sweden joined NATO in 2024, =

C. NATO headquarters is located at Paris.
D. Switzerland is a NATO member.
Choose the correct answer

(1) A, B and C only

(2) A and B only

(3) C and D only

(4) A,B,Cand D

&SS ©&roess 2,508 Q0 (NATO) &y «‘()oa)ocboég@o& I$sOS’ D &y, ?
S0, 2024 ¢38 BHS ©rOKE 2,506 036" 32 5255 e &yom.
2024 " D555 S er0e38 2506 doPSTHe0s.

&28 ©rods 2506 K03 (Hrms SO SO 0HIErED & Gos,

D. &8 e&roess 2,530 0’ 2 S96ers08 28 525 Bo.

OB SSrErard) oS Bk - W

(1) A, B8O C Sr53 3

(2) ABAW B S8y

(3) C 580 D Sries %y

(4y A, B, C 0805 D

]

Qw >

(8) w



21.

22.

24.

Arrange the following political parties in ascending order based on percentage of votes secured by

these parties out of total votes polled in the general elections to Telangana State Assembly held on

|

30th November 2023 :

A. Indian National Congress " lt?oﬁaratiya P
O Bilimgl £am 1Eum Bt D. (dmmunist Party of India

Choose the correct answer : "‘f‘i

0 S @ D,A,C,B 3) OyB,D,A 4) A,C,B,D

30 S50228 2023 S BOOTH TR TS H25% BOAS 6 HAEOS’ TG0 FBS LS FHODS
4.8 7780 eS0T (808 T80 Fheresy ety (530065 €955 )55 -

A 2786 2SOD s o B a’j%éoﬁ) ade O

C. 73S TR OB D.  ErsQR > e 20BAT

OB DIrETRTR), DODE AKX :

gy/ D, B, C’ A (2) D’ A’ C, B (3) C’ B, D’ A (Q A’ C, B, D

In which of the following cities was SEMICON India 2024 held for shaping the Semiconductor

Future ? ‘
(1) Bengaluru (2) Hyderabad (3) Greater Noida (4) Ahmedabad
DDFOGBES DX ErFoBOWES VNS RoAUE 2024, 806  JHB0S’ DY sArotTRABOE ?
(1) BoErd @ TETerE @ ([Feb Sona @) orEes

¥

. . i i
Which of the following states ranked first for the secatid consecutive year in the State Food Security
Index 2024, of the Food Safety Standards Authority offindia (FSSAI) ?
(4) Tamil Nadu

(1) Gujarat (2) Karnataka (3) Keérala

(808 TS’ 2rSes I BHST (HSFETS (FPOSE 0P (FSSAD Ty e (e Irds 2024 D560
ST BOBSIIE NS FS0 PEODS TR0 O ? (7]

1) Heos @) ST @ 8¢ 4) SFTH

Consider the following statements in relation to ‘Operation Dronagiri’ :
A. It is a pilot project under the National Geospatial Policy 2022.
B. It is a new project under the Ministry of Youth Affairs and Sports, Government of India.

C. It was launched in November, 2024.
D. In the first phase, it will be implemented in Utt‘an, Pradesh, Haryana, Assam, Andhra Pradesh
, _

and Maharashtra. - _ o
Which of the above statements are correct ? rs:
(1) A and C only (2) A;Cand D only
(3) B and D only (@ B{C and D only
‘@HBAS (BN’ £ H0206500 1806 55O DBAHEBQEVS :

I
A 368 22809 oTHDE D0, 2022 (National Geospatial Folicy) &S 28 DO (.
{{',';f
B. 38 ar8e (H25H65 0006523 55557Tmen, (§ce oSS FPSR IS (FBY.

C. 2O S50, 2024 &S (FFE0EOHDBOH.
D. 26 IS SIS’ @S (HTT, SO, ©F0, BOIE BT B HFTTOS B W0

D TIPS’ DD DB ?
(1) A B35 C L5 @ A C 0050 D @D
(3) B 08A0 D Sr{ehsdd . (@) B, C 805 D Sr(ehad
EEE
i

E (9)
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25. Chronologically arrange the follo

construction :

A. Malwala Palace

C.  Falaknuma Palace

E. Paigah Palace

Choose the correct answer :
(1) B,C,D, A E

(3) D,B,C,E, A

808 T2 BSTrersd ¢ Qomes (0% Q{f%f

A Qerge 8D
C. D05 D> >8R
E. r 38
OB ST ODE TS :
(1) B,C,D,A,E
3 D,B,C,E, A
26. Consider the following statements :

A

eginning of .
palaces according to the year of begl the;,

B. Hill Fort Palace
D. Asmangarh Palace

.l @ AcDEB

i @ CABED |
s 1550 VB0 TOESTOIRTEOT @NE)0R :
' B. S PQIIBD ]

D. &M DO F§S

H
s

S
Yok

% @ aAcDEB
4 C,AB.ED

i in Diwan-i- to Abul Hasan Tana Shah.
i painting found in Diwan-i-Hafiz b.elongs : -
g' %hfj: igit?::;l;sj?;:gges of miniature paintings illustrating the portraits of Mu_hammad Shah
Which of the above statements is/are correct ?

(1) B only
(3) Neither A nor B

€808 525080 HOHBOTHI -

(2) Aonly
od (4) BothAandB
Pt
N

A o8 THS B 2 B0 B HErSa 065008 S8z 2owes SHETBDANS Do Lok,
B. & H05e00¢% 15 Tyeexn OT0E DITDHH H020B0DS O D@ FOIRIAT O,

D TEIOS’ DB/ SBSA/D ?
(1) BSw(essh
(3) A'80%m B Bodky 5%

@ ASTSD
“i @9 ASB0% B Body

27. Match the following temples with the places where they are located
Temple & Place
A. Nagaresvara Temple L Nandikandj
B. Erakesvara Temple I.  Vemulavada
C. Rameshvara Temple II1. Gangapuram
D. Chennakesava Swami Temple IV. Pillalamarri
Choose the correct answer :
(1) A-IL; B-IV; C-I; D111 (2) AL BIL C-IIL; D-1v
(3) A-IV; B-II[; C-IL; DI {1 @ A B-I; C-IV; D1
(808 Bareoirerss e &) [Fomers éeﬁa’)d)@m : '
°0AD0 ~ (&Foeso
A. éﬁééjé 85"0@5)0 L L 08808
B. 58558 Breakho 11;? 35003
C. o°D¥ 58 Bareroho UL, fomyso
D. T8 345 50 Bareratyo IV:‘ RSURYE
BB H8rEr50 Aoty : A
((;; AL pic] priu @ AL B-IL o, py
-1V; B-III; ; ' (4)[ A-IIL; B-I; C-IV; D11
P

(10)

%
3.



28.

29.

30.

31.

Which community was engaged in making slivers of cotton ready for spinning ?

(1) Devangula (2) Netakani

(3) Doodekula (4) Kunche Erukula

& 18060 B D $80 S TrB0 SBEFE (HBD Devexnrr B VO B ?

(1) oo 2) I

B) Sra3doe 4) %03 DR

Which of the following texts provides the earliest reference to veedhi natakas ?
1 N ritt‘t:u'atnavali l § (2) Basava Purana

(3) Panditaradhya Charitra ' (4) Ranganatha Ramayanam
&: 808 (HORSNOS’ IO DA Frerseer HBOD @@ RT3 00 ?

(1) S9Ss8)39 ol 2 20 HTEO

(3) DHOATT RS WIB( H 4)  Solare TroHE0

[t

Consider the following statements : &N

A. Perini is one of the dance forms classﬁieﬂ Junder marga nritta/nritya.

B. It was performed during religious rltuals

C. It was developed by the lenkas and nayakas possessing martial skills.

D. Vira Saiva followers spread this dance form at Palampet, Hanumakonda and Warangal.
Which of the above statements are correct ?
(1) A, B and C only

(3) A, Band D only

&3 (808 (DSBTNID DBHEFOTHAW :

A OB S50 S8 S93s8BS’ 2.8 2niiew. W
B. & S9ebsanad) SIS eserorereS’ Loéﬁoa‘a?é)

C. & 3)B588 NPT K> Boen SO TAHEED e9DHYE MAODS.
D. & 398388 DY 3 LN OO Y, péaaﬁs?oé 2805 SB0HS S FENONTIE.

2 DIBODS (HBIEIOS’ DD HTID? &
(1) A, BHBOSY C Sr(had " (@) B OO D Sr|had
(3) A, BB D S| (4 B, C &0050 D S

Which of the following statements is/are true ?

A. The Deccani culture created by Qutub Shahis was an amalgamation of cultures of native Deccan,
North Indian, Turkistan, Arabic and Persia.

B. The Qutub Shahi court consisted of fore;glp immigrants known as Habshis.

Choose the correct answer :
(1) Bonly (2) A only

(3) Neither A nor B :-w (4) Both A and B

808 525065 DA / DD HOPOSD ? F
A S TEren HYRODS GELA HODKYS. Q‘«Oé OELDE 2rew, S 2B ST, $OFTS, @BDAP

SB050 HOST H0DY Y O FAWS. &)
B, D87 08 503 H0B5rire a0 S POHES TO Fahd e,

2) BandD only
4) B, C and D only

Aifhi T

S FEEL

P Y

4, ;

OB HITTTR), HONE AW :
(1) B Srad @ ASrSH
(3) A 5805 B BO&T &9 4 A58 B Boky

o)
(11) PR




32.

33.

34.

posite work written by five authors. Identify them.

4 Rudradeva, Bhaskara, Hulakki Bhaskara and Ayyalarya
e a, Bhaskara, Hulakki Bhaskara and Ayyalarya

i ,u, Maraya, Manchana and Ketana

a com
Bhaskara Ramayanam A

(1) Mallikarjuna Bhatta,

(2) Mallikarjuna Bhatta, Tt
i ar

(3) Hulakki Bhaskara, Bud cara, Maraya, Ranganatha and Buddharaju

has s e DS S3anses (5aHsnod. 8 HhEowoa.

(4) Bhaskara, Hulakki B o iots0 ©
27538 TRATCHE0, 2.8 U Lﬁé 20y 8, OO a8 SHBAKY DTS

&SI »

O vt g, 5V 1S 00k wagerds

= . ' m"éOﬁ)l é)O’lb S (6
(3) SV 0L, WPT, ]
@) 2000, ooy 2706, L3505, S0t G0 &60&;32.»@0‘83’

: lowing policies of Telangana aims at making Hyderabad t?he most favoured

z?;ﬁagﬁntﬁ ifl‘;)\lr:svzrl;legntpin animation, visual eﬁ'ét_::g;s, gaming and comics sector ¢
(1) Electronics Policy, 2016 pacs Framework, ébzo

(2) Telangana’s Artificial Intel
(3) Innovation Policy, 2016 | £
(4) IMAGE Policy, 2016 2P e, TaOoN SBoso 06 SorredS 330erd SHTR), @ésod

808 TES’ ATIDAS, SIS
©ETO KSSFTSOMT EFFroBONTR
(1) JOFIEY AG°S0, 2016

@ S0 YA DE (D030, 2020

(3) &AAYBe G0, 2016 S

4) 325 (IMAGE) 50, 2016 N
Match the following stages of value chains with the‘ actions proposed in the Grassroots Innovation

Framework of Telangana 20202025 : s)g
ot

Stages Action
A. First I. Helping the identified innovatégs to develop their prototype further for the

proof of concept oy
B. Second II. Reaching out to the rural citizenry
C. Third III. Scale-up Fund to help grow graggroot innovations into micro and small scale

industries
To scout for existing Grassroot Innovators and facilitate the creation of new

Grassroot Innovators
Choose the correct answer :

8 &TF0DS B0 D0 IO ?

D. Fourth 1IV.

(1) A-IL; B-IV; C-I; D-III (2) _A-IIL; B-IV; C-I, D-II
(3) A-IL; B-IIT; C-IV; D-I @) [_A-IV; B-I; C-II: D-III
SO0 (TR S 888 (D 365 2020-2025€FD Fend :
Soors 0 ) ﬁ @0 FEDN ¥ (DBIE0DS 38508
Sew 585 },
A DAY I 2750 dErHen §8% (&)Oox)a)&?-)ea:)“ o) 2
SH0H0 Bcosso Q ‘% QLD ODBFYE TS SeSorTrerdy B0

B. BodS® I (maved e FH&seo .,
C. SrSS36 IIL (7R 6265y D5, 5008 S 11k -
5 A @963&;3:% QGO JSHEreS ‘)éoﬁz@mm DR SEL OIS Ergrodnesdd
. e - BT &) (MR 6reS ) e B3 o
28050 5530 HOBBE0 2oga ST SNOBEBO $BAMH dreses (OIS

QB DGR, DOV DS :

(1) AL B-IV; C-I; D-IMI -

(8) A-IL; B-IIL, C-IV; DI A-IIL; B-IV; CI; D11
@ AV, BL; car; pagp

(12)
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35.

36.

37.

ection and Maximum Facilitation’ i8 the objective of the following T
‘ of the

afipimum Insp
leernm nt of Telangana :
State Pollution Control Policy _ (2) E-waste Management Policy, 2017
t ;4) Industrial Policy Framework, 2014

(1) Telangan? ; !
3) Telangana State H1ghtjr Education Policy! -
o i3S 503 83D, 0ROz o 58 Beoormed HEHSS DETS0 D6 7
Serore TR Ses QOIS o Fgy E-d5§ DOSTE DGreS0, 2017
(3) B0 T 1) B DI A0 olld) 2rOET0S G (w0564, 2014
Match the following relating to the universitié%n Telangana :
University Named After
A, Agriculture university . P.V.Narasimha Rao

B. Health university II. Konda Laxman

c. Horticulture university III. Kaloji Narayan Rao
IV. Prof Jayashankar

Choose the correct answer :
(1) AL BIIL G-V @ AlV; BIL C
@) AL BIV; C-II

3) A-IV; B-III; C-II
BOOTRS 0556 )% $020600 808 T3 2DHETAD :
AWIS6)E a@fﬂw&‘
A SeSrob MPargoovo LD 8, 36003 TS
B. e8ISO I Soleds
C. BRSNS D ITOA0 Il S 0°0roded oS}
V. e so3osd
58 HIPFTS0 JOHERD o
(1) A-L, B-IIL; C-IV ©lg) A-IV; B-IL; CI
@y A-IV; B-III; C-II (4) A-IIIL B-1Iv; C-II
Match the following. Labour Codes formulated by Government of India with the Number of Laws
amalgamated in it : ,
Labour Code Number of Laws
A. The Code on Wages, 2019 I. 3
B. The Industrial Relations Code, 2020 II. 4
C. The Code on Social Security, 2020 N III. 13
D. Occupational Safety, Health and Working& onditions Code, 2020 IvV. 9
A V. 8
Choose the correct answer : W :
(1) A-IV; B-III; C-1I; D-V of{2) A-I, B-II; C-IV; D-III
3) A-II; B-I; C-III; D-IV F4) A-IL; B-I; C-IV; D-III
058 550 50 BP0 (§ob BB 6 ol BS° 20 TS BEre Sopsd BEHEI:
S06 85 W ' S¢re S0RS
A 66 eS 32D, 2019 ® L g
B. 6508|200 68:485) §6, 2020 IL .
C. BF6 6S FIS DEroe, 2020 m 13
D. eghiss D, G HOA 358500 082S §'G, 2020 V.
} V.
-IV; B-IIL; C-I; D-V (2) AL BII; C-IV; D-
(3) A-II; B-I; C-III; D-IV (4 AL B Cg gig
EEE
5

IEI (13)




38.

39.

Y

ot ig/are correct in relation to the disabilities specified in the Rightg
Which of the following stateme

Act, 20167 o
of Persons with l)mnln:nm;“]m]’w are part of physical disability under this Act.
A. Dwarfism and cerebra y ¢

: 1ored a8 persons with disabilities under this Act.
B. Acid attack victims are consider

Choose the correct answer :
(1) Bonly

(2) Aonly

(3) Neither A nor B "
(4) Both A and B 4]

DEeToHO 50y e> 560 2016 S DB ééﬁ‘s@ﬁo Q00RO 806 arsmized’ HE/5 25, 7

A & BRO 1HFE0 SHEKZSS0 Aol ;33‘:‘5{012; DETS0 (cerebral palsy) 27#% 7%3;0 (physical
disability) &' 2rmew. ®)

B. & 580 (9560 SR i arOSO JEETOMent HBKA 5.

AV DTG DODE TAKWW :

(1) B e

(2) A SIS

(3) A OSSN B BOWr 5%y

(4 A HBA% B Bodkr

Which of the following statements are corr%;g:if in relation to ‘The Maintenance and Welfare of

Parents and Senior Citizens Act, 2007’ ? {w}}

A. Maintenance of parents/senior citizens bygghildren/relatives is made obligatory and justiciable
through tribunals. :N:

B. As per the Act, senior citizen means any pe,r:son being a citizen of India who has attained the age
of 60 years or above.

@
C. As per the Act, the State Government shEa)ll designate the District Collector as maintenance
officer.

Choose the correct answer : _
(1) A and C only (2) AjBandC

(3) B and C only (4) A and B only

'SQ0ED HBAKD MG DBRS) 8 sir };ﬁaéom) DOZN0 WO, 2007 % HoWoSOD §0d
FspseS D e, ?

!ﬁi""

A S$OBOEN/AIHE 1S Ty, (‘065@&? DS DRV/20NYHD Y © oSy T
T*500VEP0 TAHDEOA.

ki
B. & &0 (5560, dAAHG 1S @0t 60 «owégo"@o B 6 DOAS S0DDY EORS 2rSe AT
g8 i

C. & QO D560 TYHES0 Bowoe3TS) @b rr B¢ §88%% QADHNA.
DB AATEFTR), DODE TSNS :

(1) A DB C Sr(bH (2" A, B8 C

(8) B 0B C Sr(ebadd 4 ADHBAN B Sreh

@45
(14) %}%\é
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40.

v
B

: he followi
Wthh‘ ;Jf :t.z following ls;)atemeni.:s are correct in relation to N ITI Aayog’s claims in its discussion
ultidimensional Poverty in India (MPJ) since 2005 — 06" ?

paper t

2 ?5)2}); (-J_X;;lately 25 crore Indians escaped Multidimensional Poverty between 2013 — 14 and

B. It claims that based on the interpolation of the MPI estimates petween 2005 — 06 and 2015 — 16,
29:17%.

8] gl ¥ heatd counctl rgti%fof the year 2013 - 14 was calculated a8
. uyjara recorae e largest decli . 4 5 ‘ 1P rtv I
Poor between 2013 — 14 and 202?1111293 in tfhef number of Multidimensional Poverty ndex (MPI)

Choose the correct answer :
(2) A and B only

(1) B and C only
(3) A, B and C :
v 4) A and C Only
08 @635"5‘ S W) D(S0 ‘2005 — 06 0B 2raS FIOS'D DITVSVP 2,880’ (MPI) & 838) 1806
g"ga)ge)és ) 8Dy, ? 3 f§ ,
A 2013-14 S0 2022-23 K e e DTVIND DGBE0 Hob
POHEDTED. %3 oo éicj"og) 25 && z_féééoﬁ)) )
2005 - 06 S8 2015 - 16 So¢ys MPI @Otﬁ%@ 20£5FSAS esgrdorr 2013 — 14 $H0S55)T°E He

&
by
!

B.
B850 AN 29:17% r S0 % ‘
C. 2013 - 14 SHOG 2022 - 23 :)32255 sve?c?gaaogggg 2,488 S8 (MPD) 215> JopS eSS )
HBETS S SSEB0S. ‘
3B ST, DO O :
(1) B &8O C Sr(ehsd @) A SHBAN B TS
3) A, B 6050 C | (4) A SBAN C STSD
Arrange the following Policy Initiatives in [[ndia in chronological order based on their year of
launching : e
A. Rajiv Awas Yojana -
B. Indira Awas Yojana o
foriAll

C. Pradhan Mantri Awas Yojana — Housing
D. National Slum Development Programme H

Choose the correct answer : 7z

(1) D,B,C, A (2) C,A DB {18) B,D,A,C (4) D,B,A,C

;883505 (808 TSI $8508 TR (FB0DODS D038 Y80 esgrdorr 5O EXITE0
€080 YD : _

A O°BS 8 BB

B. 2008 @R 3Brad
(& B8R BB - 5200 H6 8d

C. (DGO ‘
D 280H S088rce (Slum) ©DIYE GBSO
$B& DIFERTR), HODS R OV VN
(1) D,B,C,A 2 C,ADB (3 B,D,AC 4 D,B,AC
Arrange the following Committees/Commiss@s for Scheduled Tribes in the chronological order
based on the year of their formation : 2
A. Dhebar Commission ,B S.C. Pube Committee
C. Bhuria Committee ;é) Verrier Elwin Committee
Choose the correct answer : =
(1) D,A,C, B 2) B,D,C,A w%) D,A,B,C 4 AB,D,C
2GS Bife TEF DT°YED 32 (8ob §3>6§e§(($$33115 O TR DT°YN TS HD0Seb )80 eSO
FOESTOE0 @0 ) ! (;%
A T8 EDAS B 0.2, 9 E0e3
C. SrBasr £268 D. 3JI809H0 IO E¢8
5B DITPETR), JODE TV : '
(1) D,A,C,B 2 B,D,CA 3 D,AB,C @),/ A,B,D,C
EEE
(15) 5;%@

P]



43.

tg related 0 the term “Kallakkadal” :
nts

s e.
Consider the following 5t2(°% «Kallakkadal” in Kerala,

d to as
A. The phenomenon locally referretall S
land, causing inundation of coas

t
flash flood events that , '

B. These are
winds.
t ? e 3
ts is/are correc
Which of the above statemen
) Aonly
(1) B only 0}%
) Both A and B
(25}

(8) Neither A nor B v |
$08,56" ©F Hrd8 H020H0DS (800 TSP Hodood :

]a, is where the sea surges into

ake place without any noticeable advance change in loy

A méa SRSAOETD), ToES Frogor §03%), 60D HenRrh, LS HINIB0 BrD G (D330
€) ﬂgo) 1 4

BEEOBTOD SHOTLS0A.

B. 2 08 ST Jens0e HHIODEAS &7 Bromr H02I0T Doehs S8 oD,

R TR A/ IBSE/ ?

(1) BSressd (2) A ST
(3) A 5800 B Bokr 5% (@ A S605m B Bodr
a2
7]

Iz
Consider the following statements regarding t@lack (regur) soils found in India :
A. Black soil is the 3™ largest soil group in In%.
B. They got their parent material from Cambrizn period lava.
C. They have high water retaining capacity. ®
D. They are deficient in Iron,
Which of the above statements are correct ?
(1) A, B and C only (2) Aand Conly
(3) A, B and D only (4) B, CandD only
23S BI0S’ $20T 30 Feorersy (BH5) éoaoo' S 1808 & 59508 HBKESOIOA -
9 Boew 378 B0 Sarcss ©8S Fo {g}ﬁnwo
B. @3 30 D0HS 500 erar 08 €3 ey a&%‘&); FOAT W,
C. ©) @Q% B denHE R)’é)g‘,g&); A &;goon

>

D. dBS 088 %0 &enod, r

2 TIPS I 1B ? =

) A, B 5805 C smas @) AN C S

(3) A, B o80S» D S8 4) B,CNBH D (53
(16)

5
v



45 Consider ;he f'I'(‘)Il.lov.vmgf sgatements in relation t, Tropic of Cancer and Tropic of Capricorn :
A. In India, 1ropic of L’ANCer passes throug Rajasthan, Gujarat, Madhya Pradesh
Chhattisgarh, Jharkhand, West Bengal %n;ﬁiasef:(tie;[?zforajn. o ’ Ve T
B. The Tropic of Capricorn passes through the country Bolivia
C. The city Rio de Janeiro is one of the closest cities t;) the Tropic of Capricorn.

Which of the above statements are correct 9

= a];ld C(‘iocl;ly (2) A andBonly

B (4) Band Conly

éw&eo;s;émg‘cﬁ; EY Bperdy DOORON & (806 5O 28780508 ¢

A & 0O STOS Do oS, tha e & %208, HP 0 Bord, |85

, DB, Soc5e 1HEF, SN0 B, GO0, @7 ek ;183

5805 DETO TS Hrom Iehekhos, ¢5s (HTF,

B. %S Ba HOI THo o Seweod] |

C. B3 & BTJoNT SHESH 5588 By @SOS SIS 952 SHoresS 2.883.

% Q"S&)SOCSG D JBID ? L.
1) A DB C Sr(&H % @ As00wBANSH
@7 A, BS80S C B (4) B SHBO C S

&
Tl

e *
WM
Y
W\%‘t
o

46. Consider the following statements :
Assertion (A) : ,
The monsoon enters West Bengal and Bangladesh from the south-east instead of from the south-
west direction.

Reason (R) :
The Bay of Bengal branch of monsoon Wuadi‘ strikes the Arakan Hills along the coast of Myanmar.

These Hills deflect major portion of the:fbove said monsoon wind branch towards the Indian
4,

Subcontinent. 4
Choose the correct answer : of

(1) Both (A) and (R) are true, but (R) is notthe correct explanation of (A).

(2) Both (A) and (R) are true and (R) is thefﬁ?rrect explanation of (A).

(3) (A) is false, but (R) is true. &

(4) (A) is true, but (R) is false.

100 55 HOMEIo0R :

S DS (A) :

208D STEN HB)e BOrS HO 2OTTITS'E BHS BF HOG THOE 6D OF HO& |HITIow.

5°0800/Do3069 (R) :
o TP DOHTO d 0 F0A &) BESS TONOD TES0H. & Foksen DO

DOMPEEre 20SDS .
THJ0B8 20RHSTO TPSR 0D 27 76 SOt Bih HORTaw.
BBN DSPETR), HODE TV : ‘f;%

D (A) $H00%0 (R) Bodr dzs0, SR (R) o3& r“‘?" GE08y KIS DSCE ¢,

2 (&) 605 (R) GO 0 SO0 (R) ©FE (A) TSy B DSe.
Youd

(3) () 82y, 5 (R) de30. @3

4) (A) Q20, S (R) Dy,

(7] » (17) E%%



47.

48.

49.

st Permafrost Crater that is thawing due to global climate

's big8
Which of the following is the world®
change ? (2) Batagaika Crater
(1) Sherman Crater (4) Karaha Crater
o Vr;‘:;fort;;‘:z 30T KBRS (950505 ©8 D TS S0k e ger Do (Permafy,,,
SoffY 2SR J
(- &?
Orater) Lioi a:és . @ a&fs (306
(1) 3o 5O v.
4) o> (36
@) SO 1300
ments

Consider the following state
A. Bankura, which is in West
B. Dewar, which is in Himach

Bengal, has a prominent silk textile industry.

al Pradesh, has a prominent woollen textile industry.

1
g/are correct ? L

Which of the above statements i u
(1) Bonly (&) A only
(8) Neither A nor B (Z‘% Both A and B
%
808 5PN 5030w : e
S09 HEP SQDPED &b

A 53)% BorS S 2050 (9
B orsrS (H55 S Bb S (D &), S AWBFS God.

2) T5DIOS’ DO/ SBIB/ ?
(1) B 3w
3) A SH80% B BOGr 5°)

(2) A Sr(dad
4 A 805w B Bokr

Consider the following pairs : n

Conflict Region Countries I nvdlved
A. Lachin Corridor Armenia-Aze#baijan
B. Ilemi Triangle : South Sudan;ﬁthiopia
C. Essequibo i Venezuela-Gayana
D. Halayeb Triangle : Egypt-Libya ‘s,
Which of the above given pairs are correctly matrgﬂed 2
(1) Aand C (2) AandB (3 BandD (4) BandC
(80& 23S JBHBoTHSY :

D0 e (roeso Lé:u‘;abaivé,z’q‘é"w
A OO0 58D . @953:‘0&5‘-@9&3{;&-{@8‘5
B. 2B [LASroRS L S8 ArES-RRTrHosT
C. SR8 s
D. JODS (OAFOAS . &edy- o
R DT D Ben HOP éﬁ@‘o‘)a&jaf?w:;;
(1) A8 C L@
2 ADBas» B (3) BOAWD (4) B8O C

eas

Elr“é

(18)
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50.

51.

52.

Consider the following statements as - New and Renewable Energy, Government
of India (Annual Report 2022 — 23) : per the Ministry of Ne

iasthan has t ) , -
A. g?cﬁn b2;12ogz | he largest cumulative solar power installed capacity 1n the country as of

has the 5th . , e

B. ]'I)‘Zl(::fl;a:fzo;;' L lérgest cumulative solar power installed capacity 1n the country as of
Which of the above statements is/are correct ?
By " (2 Aonly
(3) Neither A nor B (4) Both A and B . )
28 (DANB0 TNEY STBS HOAM KYSd $0(DeSS TP (08 AIO3 2022-23) (235°00
Hela) T WO DBHEI0I0B RO ag@é .
A &0 2022 38 TS oo BiosS e ‘:b@%ib:f)é 20558 555D 0FsQ), $Oh 0.

N BFE S50 g3y, 300

B. 8020 2022 T°¢38 Seorren orlRo BFosS 5

&0&.
2y 33O DO/ SOTOSE/D ?

@’@’a)@ Ho

R

1) B3r &S | o Asresd

4) A;‘p)boﬁn B o> .
ch were mentioned in the news during the

ntrol) :

(3) A OO B BOGY 5%
Following are the names of places/locations whi
2020 — 2021 India-China standoff along LAC (Line of Actual Co
Arrange the below places in sequential order from North to South :

A. Galwan Valley B. Hot Springs
C. Depsang Plains D. - Pangong Tso North Bank

Choose the correct answer :
(1) C,A,B,D (2) AD,B,C (3) A,CD,B 4) C,B,A,D
OSBRI JOTHSD TS davogs T (BAC) Sond B  (DSR0BS H300%0eS,
2020 — 2021 &° (DS S 5S5rS (HTDOLVRES @‘oa"»@écg)ero 255 8003 B SIFOW.
yob :

806 PErO &SB0 H0G 8T8 HDD B0 e
B. PSRN

A fersS Soh _
C. Bar)oh Doraren D. »%Smoh & &8 &rg08
$BS DETETTR), JODE TANI : i, §
(1) C,A,B,D 2 A,D,B,C (3) é,;}C, D,B 4 C,B,AD
Consider the following pairs : & :
Particularly Vulnerable State - ”}
Tribal Group (PVTG) x
A. Asur . Tamil Nadu
B. Gutob Gadaba . Andhra Pradesh
C. Kolam . Maharashtra
D. Riang Manipur
Which of the above mentioned pairs are correctly matched ?
(1) Band D (20 BandC 3 A and D (4) AandC
806 e H06B00 - | ||
(SFS peErS A2 o180
S350 (PVTG) | f
B. D& Keer : @0l WBT 1y
C. §SQ)O ’ &XS‘U“LZQ i4 4
D. 8asrof ; 65570 "
DS DEYSY @ weden SO 2 SHETIRRTOD ? 3
(1) BsHBoSw D @2 B 5800 C @/ A BN D 4) A 8050 C

.E (19) | %
3. &



53.

54.

ut rainfall in Telangana State :
’ annual precipitation.

g until September.

Consider the following statements ab
long with the North-East mMonsogp, brin
§

A. South-West monsoon rainfall 8
g during June and last
which, a

B. South-West monsoon arrive Bengal
. f Ben )

C. Tropical cyclones form in the Bay ©
rains to South Telangana.

t ?
. nts are correc
Which of the above stateme ,. ; (2) A and B only
]

<(31>) :;n:ni :ﬂy & @ BandConly
SO0 TR STJ$0 HBOD 808 g‘sa)é%:ﬁ) $83O00&

A SHS 20095 STrSs0, T8 @2?%0«5‘ w'cs";g) 80%
B. S5H& ameodsaren 7S I S L;joééléﬁ@ 22025 SE8 $HOETow.
C. womerarsos’ 96)8 sasode SiEPDe0, S5 anedsrod a0 $8e Boorns g,

SJow.
D PSS’ DD OB ?
(2 A BN B ST

(1) A D8N C S(ehaD
(4) B OBOM C Srehad

(3) A, B8as» Cr
Consider the following statements as per-Felangana Socio Economic Outlook 2023 :

FH0 SBEL GOLNOD.

- . . . .
A. Telangana produced about 8% of thqﬁotal rice produced in India according to the estimates fo

2020 — 21. , o
ke
B. The total area under paddy in 2015 é;;G was 25 lakh acres. By 2021 — 22, the area under paddy

)\,1
LA
1

increased to 97 lakh acres.

Which of the above statements is/are con%:@t ?
(2) A only

(1) Bonly
(4) Both A and B

(3) Neither A nor B
SO0 Tdre3s esdy éaégc_éo 2023 (35°60 808 550 HBHBOSOS

A, 2020 - 21 ©OUBT® (H5°50 FFESTFOS &b 1B 0D Juso HaHsosS® Beromrs TR0 ) 8 T

(%) &¢5)83 TDWOA. [
5 o
B. 2015 - 16 & $03H Ao Moo Fege ISoen, ST 2021 - 22 8 BT D40 97 089
QET°OH DBAOA. & ,
2 TPIOS” IO/ HBSE/D ? o
H:
(1) B (&3 o @ AseH
(3) A HB0SH B Bo&kr 5% <p
’ 4 A 8w B Bodkye
%5
o

(20)




55.

56.

7.

Consider the following statement
A. InIndia the first Jute factorys :
w

B. Jute industry is mainly g raw maﬂ >otablished BALERL
aterig) ba i
sed industry.

Which of the above statementg is/ar
€ Correct 9

(1) B only

(3) Neither A nor B (2) Aonly

(4) Both Aand B
(800 DO DBJosod - ) Bothan

2 T550S B/ HOTIE/ o VDK a8 Ho.
(1) B Sredsd ' <Y
(3) A HOAN B Bosr s %;ii 2) A Sr|dad
B A $B05% B Doy

Consider the following state .
ment; i i

per the Telangana Socio Econor?lis gi:f::ktggggg .Transportatlon (202 =2 n Telangana Sate =
g. Xianga:l}? h;ls a total road density of 97'2§;m.for 100 sq. km.

. Among the districts, Hyderabad h - i jgiri

snd RangsReddydiiricts, as the highest road density followed by Medchal-Malkajgiri

C. .The total road network in the state including National Highways is 1,04,277 km.
Which of the above statements is/are correct ?
(1) B and C only (2) Aonly
(3) A and C only [ 714 AandBonly

il

800 TIred efs eHSens - 2023 (Do Soors TR0 Srorde S (2021 - 22) §
5020H0D (80O 5D DBKEI0I0H {:,,
A BOOMereS (D 100 5. & HH Ineso 9549 8.D. Sermrdie ol GOb.
B. 2o FOT rcrerd s 8@ a‘ro@f‘xﬁé@ﬂ 08, S$T°5 SEIM Fch)S-DerE A, felelpnele)

2N GBO°) OW. -
SHod 5O 1,04,277 8.0. T &0B.

0. oos Bndo 8 IESE, @8 ST

2 55O DO/ HOPIL/ ? -
2) A Sr|$Dd

(1) B 08050 C ST
3) A B0 C Sr(ehad 4 A 805N B (S

n sequential order from North to South direction :

Arrange the following islands of Japan i
A. Shikoku B. Hokkaido C. Kyushu D. Honshu
Choose the correct answer : 5{*3 )
(1) B,D,A,C 2 ACBD _}(3> C,B,D,A (4) D,A,C,
2rS SO (806 By GO0 S0k K88 &i}ésﬂ) 385 185008’ ©NB)0& :

P& 3 R YN
A 28 B, Frspond D0 0ga D. F&
3B SIPErD, DODE TOLV - o
(1) B,D,A,C @ AGCBD ©® & B,D,A 4) D,AC,B

(21)
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Jants is/are correctly ma

tched with their location ?

58.  Which of the following A]umimumlfoot
A. HINDALCO g
B. BALCO RO |
C. NALCO ABBEES
Choose the correct answer : (2) Aonly
(1) Aand B only (4) Band Conly
;3) A B an(? C o () €3 Q“X)Qg& HOT HOFEON ?
08 8’ 2 ®erIHIONO ¥ -
A o) . BOErS 3%
B. o, o) &P
C. > odS &S of)
909 S8Er30 Do ;; PP
@) A S0 B Sr(edad &; B 26060 C Sm&
(3) A, B8as» C @-3)
59. Consider the following pairs :
Ramsar Sites State
A. Rudrasagar Lake Uttarakhand
B. Nanda Lake Goa
C. Ansupa Lake Odisha
D. Sur Sarovar Madhya Pradesh
E. Nal Sarovar :  Gujarat fwf
Which of the above mentioned pairs are correctl&@natched ?
(1) B,Cand E ({2} A, Dand E
| (3) B,Cand D &% A,BandC
€3 (500 2S00 HOKBOHI : +h
oD 6 Dew ovslo |
A HIESFNB S80) &S0 el
B. oz H8%0) o &
C. )0 S8 TN
D. &6 3655 S0 1535
E. & 3856 RS
D DEYSY, & Beben HOM
o st
(3) B, C %805 D 2 A D38k E
@ A B 5608
60. Which of the following mine

2023 by the Government of India ?

[

ral has pop b%%’:* .
°n i
N

(1) Copper (2) Cobalt @ -
n i
(§lo)& ;6356 & 2023 &S w?éﬁ::;gg §®§§) 3 Q%@n‘ i L;)Z;&)ésoas . 6(4) Chromite
2) Top QOS2 ?
8BF Ko @ &
® b SRS
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61

62.

Consider the following statementsg -
A East Australian current is g
s Bt i B ey a\:)ill(-lm ocean current located in the Pacific Ocean.
Which of the above statements is/are z::an tc gmnt ofthe fren B2
rect

(1) Only B
(3) Neither A nor B (2) Only A

(4) Both A and B
800 DO DOHEIOTHW :

%D &8RO % v
A SR Q[ (DaFsT0 eFA HRDE 0355 é))LCﬁOCS‘ &) ESR HSHN(EH |DTT0.

A BF es = @Cﬁ)(s & e ., i i
B. 38 DIV (D0 T Srocse HLEH0E0S G Dehe> DN (DTTO.

2 F5sOS” QDD SOTOSE/D ?
1) Bane$D . 2
@ s (2) e Sr(ebad
3) A B0 B Bk 575 (@) Ha 58050 B BOG
Consider the following statements about Isoti{e’uns showing horizontal distribution gic e

temperature :
A. Isotherms run in an East-West direction and aﬁg}generaﬂy parallel to the latitudes.
unction of continents and oceans due to

B. Qenerally, isotht.arms are straight but they bend at the j
differential heating and cooling of land and water.
C. Isotherms are more regular in the Northern hemisphere than in the Southern hemisphere.

Which of the above statements are correct ?

(1) B and C only
(3) A,Band C

(D0 eseliied TSy 8823 D3r0ehS DVBEID

(2) AandB only
(4) AandC only

&‘3%@ $3rg Be> (Isotherms) 5800 208 TPEVIOD
o

H8830508 : _
A 530 Bpen SrH)-HEE OIS Goerow bl rordmomr eFoTe JdEroddor IR0V

&OLEION. el
oéraw, S5 2570 SHOAD E3 TSy 3& Hdaw

B. arordeor, D3y BPED 3088 S¥oorE (straighi_%;i&s
5858 (HECHS SsETSTO SO0 ©d ﬁi%%thenns) PO
oo’ SOf GOErow. W |

C. $3wn Open 8T Feos &0t ST HesoSTEhB0e |80POTT GOLTOW.

e BN SNTFI(TTED 50D

2 g5 D OJOD ?
(1) B das» C S| @) A OO B S5
(3) A, B 80w C @) A BN C SIS
Which of the following pairs is not correctly matched ?
(1) Hazrat Mahal . Led the revolt in Lucknow
(2) Kunwar Singh . Led the revolt in Bihar
(3) Azimullah . Led the revoltin Murshidgﬂ)ad
(4) Rani Lakshmibai : Fought against the Britis;g'»‘”“iﬂith Tantia Tope
808 zseS’ IO OBS 23¢b 570D ? 4
B uss Hoos - o1 Soiarendd TONEEY0 HroDdod
(2) %355 doh 556 & BOHTENE w’oﬁbgg,so PO
(3) eSwer sodd S Bt SIS0 SIOTE
4) o ol jaron | @08 558 50% DB FOS $58TIorr oo B0
_ aE
(23) %*;é&
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65.

66.

67.

bhek
ar Shastri Jambhekay .
rmer Bal Gangadh nd the first Marathi Moy

i fo
about social ¢ un’ an
Consider the folloWlnﬁg :tatemglzl Maratha newspaper — DurP }115
A. He started the 1T
magazallne ; D1gdsu:ssh;11 ather of Marzzth1 Journalism’.
B. He is also famou e correc
Which of the above statements is/ar 2 A Oﬂli; dB
(1) Bonly (4) Both A an 3
Biie80TH0
(3) Neither A nor B . LA TSRO d
oMk 202340 8 (\)4)&1 & BESES e0ed) BOELDVE Socrg By

Lg;g;;& B SHOAN

D0 HoY are> Ko
A S0 Boeanees sof -
JoININE
HBES (80D £ Sy SoTO T ,,gpgmowéo.

08 8

B. 00 'S0°8 238027 .
3 O/ HBIED ? .
(% a];gii;e;oa/aa b if;’ @ AIPSD o
¥ 8o

(3) A 8050 B DO 5%) (B ¢ (4, AN B S
Who among the following was the Constltutmnal Advisor to the Constituent Assembly a?
(1) B.N. Rau (2) Alladi Krishnaswamy Aiyyar
(3) S.M. Mukherjee (4) K.M. Munshi
;ST Toar g0l DL o»esv,goes LTI & »Léo& TS DB ?
(1 DS, T @) ©erd SR eosd

4) B.IN. Y

3) VS, S
Which of the following statements is incorTezjt ?
(1) Rongali Bihu marks the harvest festiva B Uttarakhand.

(2) Thai Pusam festival is observed every y&ar in Tamil Nadu.
(3) Moatsu festival is celebrated in Nagaland 'which marks the farming season.

(4) Sarhul is a harvest festival celebrated uﬁ’ﬁharkhand and Bihar.
(808 (BB SIS’ IO HPIG 57 ? %

(1) 5oid DBV &dorpod S Hobe HodH. | ;r:
@ 0D IR0 DOHD ST RS’ Loéé $)50 BEYT0ETED.
(3) T0e0) DT Tl &' HSIAD OO (123S) (@502 DOGHT 23EISI0ETED.

@) FHS 9T HrPos BN DIB S’ BHHHT HOGID DO,

Consider the following statements :

A. The Government of India Act, 1919 prov1ded for s1mu1taneous Indian Civil Service Examination

to be held in India.
B. The first such examination was held in Allahabad in 1922.

Which of the above statements is/are correcf:'f?J
"% (2) Aonly

(1) Bonly
(3) Neither Anor B S (4) Both A and B
808 (HBISOS HOREBOIOS : v
A R080HS IS 650 D65 VT LoErs ST oS D5 ®

o o n G3ar0T0E 1919 278 (D03 SO
B. & H8%c0 s 8 1922 & @90&‘&?5{4}5‘ QG SO,
2 TR DE/AD DBSE/D ?
(1) BSr& 99 a Sr(esah
(8) A 80 B BOKY 5% 4y A 38050 B Bodsr

(24)
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69.

70.

haratan Te not
A B atyam : Carnatlc Musforrecﬂy related to each other ?
c

B. Sattriya : Aw
C. Mohiniyattam Kulttllya Naat
D. Kuchipudi : Kumb" ;ittam
Choose the answer ; .
(1) Aand B
2) A
S 3) CandD (4) BandC

& ¢3S
8o ) 23e8en 2,8 OS¢ QB Hozy
A BOSTLEO  : Egress Sofieso Peoten g

B. &L@(ﬁ)‘ : @®08a%H S
C. JIAATYO : §\)¢3035.®o
D. 300 ;S
DITFTTRQ), DODE OV :
(1) A B3® 1
B @ A8 D {__J () €50 D 4 BHHBAC

Arrange the followin,
g Satyagrahas chrono];og1
cally as per the year of launchin;
A. Munshigunj Kali Temple Satyagraha ’ﬁ y as p y g:
3

B. Vaikom Satyagraha Stk
C. Nasik Kalaram Temple Satyagraha fﬁ;
D. Guruvayur Temple Satyagraha ¢F

Choose the correct answer :
(1) B,A,D,C 2 ABCD (3 B,AC,D

&3 1808 IHTSHTEINOD @ (E0E0HBS D055 IB85D [FPSDOET™ N AW
A, S0JH0E 579 TS0 Hezg|(fersm

B. RE d&eg(iiredn N

"

N

4 C,D,AB

C. o5 seroed Bareod dergfisrd =2
D. %S08 Bareod Segiism o
JSTETR)), DODE TR : ol

(1) B,A,D,C 2 A,B,C,D fﬁ' 3)
tatements are{BOrrect ?

Which among the following s
A. Gwalior Gharana is known for Dhrupadand Khayal music.
for Tappa form of class1ca1 Hindustani music.

B. Kashi Gharana is known

C. Lucknow Gharana is known for Khayal m'usw

D. Indore Gharana is known for Khayal music.

Choose the correct answer

(1) A,Cand D (2) ABCandD}
5 ’3

& 808 (HATEBIOS D HBSD ? 3

A (CODE SHOASD PSS HohedSs nv,s@of\)éaq»o'é IVEToR0d.

B. &r) 88 snolrard Hofies 20T OHSRBH 9 TS (DO Tobod.

C. BosrS HohedSs o) DT 0P 50@%&

D. 2088 207 BATS BofE8 (VG- ~x
B & D0E TS ! fﬂ
3D Adrar A, B,C 5800 D (3) B,CHOaSwD 4) A, BOXND

(1) A, C8csw D 2

B,A,C,D 4) C,D,AB

(3) B,CandD 4) A,BandD

(25)
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71.

72,

73.

: the basis
al organisations in chronological order on di their
on

Arrange the following interna
establishment : .. (UNO)  B. International Monetary Fund (IMF";ation .
A. United Nations Organlsz.atlo?WHo) D. World Intelleckual Property Organi 0
C. World Health Organisation

Choose the correct answez’z:) A B,C,D (3) D,A,B,C 4) A, C,7§ l;;g .

;1) D S HoPed T3 35T 505350 eGrEOrT, e (87 ®a080 )y .
08 AN @ioég - B. @0S$T0% (555 A (I}WF)

2' Ejgjgo:: . “gf: V(Ué) (WHO) D. (500 DE 50He Hoy (WIPO)
- Do edis So

OB Hedye Q) DOTNT W :

(1) B, A, c?];w : @ ABCD (3 D,A,B,C (4) ACBD

ia-Mi - Economic Corridor (IME(
Which of the following statements about Indla[}}?lddle East-Europe Eco |

project are correct ? ) el ..
A. The project was signed at the G-20 Summit helr(}1 in New Delhi in 2023.

B. Itis a part of the G-T's Partnership for Global Infrastructure and Investment (PGII) project.

C. Itis considered as a response to China’s Belt afi Road Initiative project. ’ )
D. Saudi Arabia, European Union, India, UAE, UK,'US, France and Egypt signed IMEC’s MoU.

e

. o

Choose the correct answer : ] }
2

(1) A, B and C only (2)@& B,Cand D

(3) B and C only - (4)""A, C and D only

PBS-D8 [russ-08> 08 005 (IMEC) 2rEFS0 5020800 (808 5330S, D8I I ?

A & r3f 2023 S’ Sy AOS 2360 G-20 DT ISTSIoS Hodsren ZEADID.

B. G-7 (0028 S3°O8 He0arafhe) adBoin DEP2EId aRRr 350 (PGIT) &° &3 (B8 2.8 2rHsw.

C. 28 T ) B HO F6 B (DSBS YOS 20052808,

D. R eBDAfr, SrdANS CIrdoDS, arSSTHS, cdm, WS, D, @Sy O SeEex
VDB TV SRS 2,900 2 H0SE0 TaFaw.

=,

DB DIPETTTRY, JOEEED - o
(1) A, B 8050 C Srgsdh (@A, B, C 805 D
(3) B HB80I» C Sr(¢hsdH (4414, C 8050 D Sr(bsh

Consider the following statements in relation to tl{@’)(}lobal Biofuels Alliance :
A. Tt is initiated by the UNO. -

B. World Economic Forum (WEF) is a part of the alliance.

C. India is a member of the alliance.

D. The alliance was formally launched in New Delhi in 2023.

Which of the above statements are correct ?

(1) A, B and C only (2) _AB,CandD

(3) A, C and D only (4i_!B, C and D only
DO 25 ROGES Ereados 020600 80 ar5asgebets HOKBOSos
A 30 0¥0E; OGNS (UNO) &30 3608 0csard ol

B. (0005 &@% 50 (WEF) & rerydyest o, o

C. & 5N erdsTSio Sahsorey, 1
D. & 8r&d &3 3OS 20236 erosson DE0DGBDBOB.
D FIOS D HBTSD ? %
(3) A, C 50050 D S 4) B,C 560 D SreH |
EE
(26) E%ﬁ
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740

75.

ich of the followi
Whic i owing country was admitted into the NATO in 20237

(1) Ireland (2) Finl
and ‘ i (4) Sweden
2300 . O {
;\fl)atchmthe following BRI @ oSerols (3) .ﬁ[_éO))(s 4) 56O
: ¢ CS Summits with their r ’s ective host countries :
Sutr}:zmzt Country ‘f lj
A 11 . I. India 5%
t ;
B. 12/ II. China i
c. 13 III. Brazil «3@
th ' 4
D. 14 IV. Russia £
V. South Africa &

G)
@) AL B-IV; c-I, D-V
4) A-V; BIIL C-1v; D-I

Choose the correct answer :
(1) A-III; B-IV; C-I; D-II
(3) A-IV; B-I; C-III; D-II
806 |DE.) (BRICS) 907§ DT Iwerd o 2008 Tred 235 DT :

Poo/f SairIso Sso
A, s L arosdio
B. 128 1 B ]
C. 133 . . (B2S %g
D. 148 IV. &ars ‘é:}
V. &8 @5 o
5B JSPETRRY, DOTDS E=
(2)§gA-II; B-IV; C-I; D-V
W

1) AJII; BIV; C-L; D-II
(38) A-IV; B-L; C-III; D-II

Yoweri Kaguta Museveni,
which of the following country ?
(3) Uganda

(1) Kenya (2) Namibia
e 0O ess (NAM) 56,5 TS0 e SRS & 800 B8 TodS
@) SHHAF (3) oTow 4) Bowrds

(1) S&°§
Consider the following statements in relation to t}tgGlobal Technology Summit (GTS) 2023 :
t was held in Pari§gn December 2023.

the Summi
ummit was ‘Geopolitic'?xof Technology’.
G

ts is/are correct ? 06
(2)_th only

(@@AV; BIL C-IV; DI

the present Chairman of the Non-Aligned Movement (NAM) belongs to

(4) Zimbabwe

A. The gth edition of
B. The theme of the 2023 S
Which of the above statemen

(1) Bonl .
/ (4} Both A and B

(3) Neither A nor B .
% H02dR0N 808 & §P5OD HOKES0THW

<y3%0 (GTS) 2023

Do roSeBs 207 O X
A & DpOel DITFF 89 2BAS G020 20236 @PD ' 236708,
B. 20238 260% T BrSFo O30Sy 2DS59B0 (theme) ‘rOSBE HOFIY Y Tadosren’
(Geopolitics of Technology)-
2 5SS DO/ HOTPIOD ?
(1) B Sr&sd 2) A Sr(¢dad
(3) A 580 B DL S 4y A SHOAW B Bok
EEE
(27) %‘}éﬁ
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78. The UN Global Compact Leaders Summit, 2024 is meant to review the

following :
nal order.

(SDGs).

(1) G-7 countries’ contribution to the advancement of inclusive internatio
(2) Private sector contribution to advancing Sustainable Development Goals

(3) UNO’s contribution to further the causrﬂ.(t‘ global peace.

(4) Private sector contribution in achievingz}g e goals of carbon emissions.
v, o &:
DTN S Loar§ OB 3Tl $ITB30, 2024 (80 T3 DG O aGR0DDA0

(1) DNV e0STROH EH0N S00cO% %ﬁs’»@%éog G-7 Bare OIFs80.

@) PTG O e (SDGS) mo@gi@x»maoﬁ (258 Boffo 560,
(G)IPSISTOINE ot FAINWoTa v B80S sﬁgkwas S Sy

@) $8)% GFTe ©F 500 IS RIS S0t dFs+do.

79. Five ICAR institutions and six locations are given below. Based on the location of the Headquarters
of the Institute, match the following :
Institute [] Location of the Headquarters
A. Central Institute for Cotton Research a«: I.  Varanasi
B. Central Rice Research Institute {}, II. Shimla
C. Indian Institute of Vegetable Researclnlj III. Kolkata
D. Indian Institute of Sugarcane Researcg IV. Cuttack
E. Central Potato Research Institute ,{}, V.  Lucknow
@) VI. Nagpur
Choose the correct answer :
(1) A-VI; B-1IV; C-I; D-V; E-II (2) A-IV; B-VI; C-II; D-V; E-III
(8) A-IV; B-II; C-I; D-VI; E-V (4) A-VI; B-IV; C-II; D-V; E-III
D 0DVeB (ICAR) HoPen HOOM e (DTFen (806 Q3 SDFON. NDOPE TN, (DTS S*T°§e0H0
3B, |DT¥0 eS80 808 are3R 2338 )0dk :
Sog L] (DTS sPo°seah0 AT (S0
A 0OS 3.5 HB 50S 86 Bff L FEETR
B. 0&S BR 815 Q)58 i;} II. ey
C. R0B0DS 3758 6 IBeend 67 III. £S¥e
D. R0AGHS B 6P DHEIS 68T V. ¥
E. 0&S ere §6) ad).ersé é’) V. o)
VL o hy0
5B DTG0 DO : '
(1) A-VI; B-IV; C-I; D-V; E-II (2) A-IV; B-VI; C-II; D-V; E-III
(8) A-1V; B-II; C-I, D-V[; E-V 4 A-VL; B-IV; C-II; D-V; E-ITI
, @4
P (28) %%ﬁ




80.

8l.

82.

Bombay Blood group wag discovereq
in

T
, J.C. Patel (9) 1948,J.C. Patel
202 RB D 5036 (4) 1956, Y.M. Bhende

) 1952, I.00. FoR@ oo _ Eoffar), 8.
3) 1958, B. VS @) 1948, B0, 50d

4) 1956, P.2)0. BOG

Which of the followin,
g statements ig/aye thub regarding the golar system ?

A. The Sun is 180 million k;j
s 8 n kil
B. Sirius is a planet of the so(l)amrest;‘::e:va&‘from the Earth.
. M

C. Venus is the hottest
planet i 1o
Choose the correct answer : wour SOlaR&V stem.

1) Bonl v
St @ Aonly (4) Aand B onl
8 3590 00K Y . (3 Conly ) ¥
A &SP S8 180 ;i})%?% ?@gf ”Séigoé‘ DD/AE 8y, ?

iy S
B. ;‘%O?(o %93& R 0SSO 2.8 Lﬁ%&g )60658 &), 0.
c. SRS’ DI 98508 S s KOS feris.

DB DSTETH0 DOTHEEIS |
1) B '
(W)h_ . f@j’ @ AmEd @ csned @ A 5B B SIS
- : of the following has the highest frequency in the electromagnetic spectrum ?
(1) Microwave ray
(3) Ultravi (2) X-ray
raviolet ray (4) Gamma ray
806 5500 & B DESEADT08 Dk & evdsds SEBEI0 SN GHLO 2O
(1) DIEIS (Microwave) 8§5€90 @) 28 X) 86m0
&) ©dJeSare (Ultraviolet) 8800 :3« (4) Sy (Gamma) 8%€90
Five Super Computers and six institutidi are given below. Based on the location of the Super
Computers, match the following : I
Super Computer » Ftitute in which it is located
A. PARAM Shakti I NI, Gandhinagar
B. PARAM Yukti II.  1i8c, Bangalore
C. PARAM Ananta III. IIT, Kharagpur
D. PARAM Brahma IV. IIT, Hyderabad
E. PARAM Pravega V. IISER, Pune
VI. JNCASR, Bangalore
Choose the correct answer : .
(1) A-IL; B-V; C-VL; D-IV; E-I (2) AL B-I; C-VI; D-IV; E-II
(3) A-IIL; B-I; C-VL D-V; E-II . @ A-IL; B-VL C-L; D-V; E-II
o JroB osrsed SO e éoéo{%oé S sgow. Srob Sodrie® &) o ecéar
1808 ¢3Q 2350808 ) P
76 Sosy s 28 &) o L
A DO 38 L wes, modSN0 e
B. 388 osng I 09I, Boﬁeﬁ(ﬁﬁﬁ)
C. 58S esos L 003, POH yD !
D. HB (272 1V, 00, TETTE
E. DO 03 V. 0o aed
VI B D5 esb, Boerdd
DB & DOTHE W !
833_:2-(})1&5;?\‘"6%-“ DIV; E-I 2 A-IL B-I; C-VI; D-IV; E-II
3 A-III;' B-I; C-VL; D-vV; E-II (4) A-IIL; B-VL; C-I; D-V; E-II
EEE
i

(29)




ts 1
84. Which of the following stateme”

86.

hormones anq
g/are correct related to enzyrmes, Organic
ar

jon.
crease the rate of reacti

compounds ? . energy and then 1n
A. Enzymes lower the atctiVﬁ‘tl(')n derived hormone. "
B. Epinephrine is an amino acl ol compound on the Earth.

os v t abundant org
C. Pepsin is the mos (8)] A,Band C

Choose the correct answer : A only
<t 2and Bily 2 % Sehwre HIBOD (806 2S5BS TSP
&L

DOBS> ew, S5E2S e B VOB 20THTOW.
A. .:)o;g) Y éoﬁr@oé 589 SO (ééé@oﬁ;f}is;gg S
B, 0TS 036 e 80 T Z‘?j ’5@:;&‘;3)@%0:
C. DS WD) @30 Hn@m (05 VO i3
OB DSTETS0 DOTHE DS £

S I A, B S080%» C
(1) A OGN BSHSDH () AST(SD (;f)%?

- ?

Which of the following is not included in the Sustainable Development Goals ?

(4) Conly
Sc)ess DO/ &'Kb, ?

4) C ST

i ion

e Sy
(3) Life on Land
(808 TS IO S DS OFT IS BEISBR ?
(1) ot HS5730 @ dorgreased
3) D $Ie80 @ a3 DO
Five Indian scientists and six fields of research Q given below. Based on the field of research of the
scientists, match the following : “%f

Name of the Scientist Field of Researc{}}
A. Satyendranath Bose 1I. Statistics o8
B. D.R. Kaprekar I. Chemistry 4%
C. C.R.Rao II1. Botany é{?
D. C.N.R.Rao IV. Physics 4
E. Janaki Ammal V. Mathematics &)

VI. Geology

Choose the correct answer :
(1) A-V; B-IV; C-I; D-II; E-III (2) A-IV; B-v; C-I; D-II; E-III
(3) A-III; B-II; C-IV; D-I; E-VI (4) A-II; B-III; C-IV; D-I; E-VI

DD 78S TIIGen S0t Bt B3 Somen Bocs <
SOFW. F(JIS %
B0 BCrBorT BWER, 806 639 2BI8)0B : ' ‘ WSy H0Fcw

FYHTS D I85> Sorto ||
A I8go 556 5% L eS8y 52
B. 3.8 5256 IL 30 &
C. dasb.oS III. 5 o]
D. d.)5.e8.0°5 IV. $8) e
E o8 osmé V. Domes, i
VI. B0Sreres Z.;
OB DSFERS0 DOE DS - -
(1) A-V; B-IV; C-I; D-IT; E-IIT
(3) A-III; B-II; C-IV; D-I; E-VI ) Alv; B-v; C-I; D-IL; E-q11
@ AL By, C-IV; DI, By

(30) g‘g




88.

89.

90.

7]

Health Anxiety is also known ag

1) Hypochondria = .
_ (2) Hypnagogin
@O0 & BOBESL — Q& o (3) llyp()g]ycemia (4) Melanoma
() OGRS B o
OJ“O)QHSH(X&Y’ « - . & %6 — - Ss‘l"l
(3) @“s‘)‘ﬁ 23607 (4) o0 e)T

Which of the following state
. S m

A. pH 9f a solution is equal t: ljtﬁ)a}"’i‘t pH are correct ?
B. pg is (1exp11'essed on a scale of 0 fOILl.

! value less th i34 .
IC). %he gastric jfliceall)erC;ES 1§a.t es that the given solution is alkaline:
E. The normal pH of healt}?y llln the stomach of the human body 18 acidic.
Choose the correct answer : uman blood is around 6-5.
(1) A, B and D only '
(3) B, C and D only 2) A,BandC only

(4) C,DandE only

pH B9a¥5, 808 &8S' D arsmgen 039D ? L

A (T80 T30E) pH, — log[HY] $%o Hdwo. ©

B. pH & 0 Do 14 Sodsrsoss éggbdya‘réa‘ e

G gli ;);J;Jg 7 §g€€a é&)zjsﬁn‘* &GO &8 Lw;ﬁsaéw?ﬁé Kogassn EOB G000

D. S50 EENS eeh)® evddy ”"SL‘QE?: K300 e Kogado O &0ENOD.

E. e86550830 S 880 Tng)y rerds pH Pensd o 6:5-

5D DEFGRO DOTNESSN : &

(1) A, B 805 D Sr(ed “@ A B 00 C IS

3) B, C 005 D S 4) C,D 500 E SIS

The correct order of the thermal conductivity of the materials is :

(1) Silver > Copper > Aluminium > Lead = (2) Aluminium > Copper > Silver > Lead

iw@) Silver > Lead > Copper > Aluminium

oG DO ($00 -
%2) N0 > 500 > 2035 > B&

(3) Lead > Silver > Copper > Aluminium
HOTO Ty O (thermal conductivity)

1) 50 > 500 > e ICH0 > B&
3) 86 >0 >s00> OFZDAONO s e >B&>FN0> €95 ACHO
't}ﬁ;he organism :

Match the respiratory surface adaptation wI
« Organism

Respiratory Surface Adaptation e .
A. Tracheal System I‘;‘,‘g} Fish
B. Gills 1@ Insects
C. Lungs [II. Terrestrial Mammals
D. Skin _ IV. Earthworm
Ch t answer :
(1)02?(1311';}1]3&?”;;11; D-IV 2) A-L B-II; C-IIL D-IV
(3) AIV: BL C-II; D-III (4) AL BIL C-I; DIV
LN 6;;;35&“;@ eoSDGEd (respiratory surface at‘l’al?tation) 9 3 B BSHIOV0R :
70565 BSOSO OnDOT a‘?’i
A THOTE DD L ¢ o
B. R03)e» L. y
C. s IR SR erAleTAY & Sren
. EDOBHN AN
D. W20 Iv. @"
Z\Eifxw o o ﬁfﬁi’? . © A B CIL DIV
3 AIV: %Ii- CL DAII 4 AL BIL CL DIV
(31)
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91.

92.

93.

;ties of Computer Hard Discs in descending order :
g capac

Arrange the following stor8 - i

A. Exabyte B. G1gB:;’ty:e

C. Kilobyte D. Megbyte

E. Petabyte F. oA &
Choose the correct answer 5 ABFDC @ EAFBD, c @ »D, ¢
(gl) AE,B,F, D,gél’ 0(2 .;)'eé g0 2288 srdor esSirar [_éo‘ﬁoOCSG @:08)08

(S08 $0sy°5e00 3°Q Gy

A 5B B. ﬁm@is

C. 8&5BS p. »rB o

E. 2erBS F. @03

0B DSTEPS0 OO : FB.D.C
(1) A,E,B,F,D,C @ EABFEDC @ EAFRBDC 4 AEBLLD,
Identify the correct statements from the f°“°:1:;f '

A. Ammonia is a colourless gas with pungen }f)
B. Commercially, ammonia is produced by Haber-Bosch process.

C. The production of ammonia is an endother%c reaction.
roduced from ammgnia and carbon dioxide.

D. Commercially, urea is p :

Choose the correct answer : "f

(1) A and B only ‘,,é2) A, B and C only
&4) A, BandD only

(3) C and D only

808 TS HEToS 5O HA0SOR :
A SN OIS 28 EoHB AT TR (e F°AsY.

B. o3235580M, eS0T wrab-ar (D80 & 58 e )& T .

C. OTIOST &5 2.8 oo WO§.

D. eSS0, oo SBmAAST SO S szé;S B 6338 © 0B &) TI.
0B DTG0 DOTHE0M : o

(1) ASHBOw B Sr(ehad
(8) C B0 D Sr|ehad
Which of the following statements about Dr. Vi;ﬁiram Ambalal Sarabhai is/are correct ?

A. Dr. Vikram Ambalal Sarabhai was honouregi with the Padma Bhushan in 1966.
B. Dr. Vikram Ambalal Sarabhai was honourég} with the Padma Vibhusan (posthumously) in 1972.

C. Hindustan Aeronautics Limited was founded by the honoured Dr. Vikram Ambalal Sarabhai in

1940.

Choose the correct answer :
(1) Bonly (2) Aonly
(3) A,Band C (4) A and B only
@ ED ©02erS FTErow & 020809 L§Q&n TS0 DO/ DI ?
A @ JESD ©0erS FTEraw D 1966 & HeS, 1@%15 & H) 0008,

B. @ QD @00erS F0Eram K 1972 & $53:p5reS (DOFN0BE0) (TR0 TR,
C. 2rotoPS MBTEE) ONBE 1940 &° i 3@5} ©0ETS FT2TON FrOTTD.

OB HATETS0 DOTHEDSW : ¥

\,AA

Jaa A, B 58050 C Sr(ebad
wiﬁn A, B 08050 D Sr(e$5h

(1) B S @p) ASTSD
£3) A, BB C @) A SB0% B SFSD
op]
(32) l%éé




94.

95.

96.

Consider the following state
Mentg ab
out t

A. Human DNA ig
Oom
B. Adenine (A) pajrg W.I:;;Sed of twe bl he human DNA :
1th Thyims Nucleot;
Ymin, otides.
® D, Whereas, Guanine (G) pairs with Cytosine (C).

C. TheG—Cpairh
as two
D. In humans, each ce] hydrogey, bond
co S, whereas the A — T pair has three hydrogen bonds.

Which of the above gt Ntaing 23 ...
atement, Pairs of chrome
(1) A, C and D only S are corpet, 9 Hsomes.
(3) A; B’ C and D )
53735 DNAS o) 1 (2) A, BandD only
0R0D 8o o ! @ B,CandDonly

C. G-C 208 Bock TS St 965?95 (©) & S (G) 2555°C0e8000.
DOTTEN0ETaY, FO A - T 25066 S07eh FEES DOTEDOLPOD.

19). sﬁré@ocbf, S 5890 (cell) & 23 23080, 4
2 T35S DD B 2 O I SrES0en0eron.
O A D o A BisocnD eSS
9 ALY C Gm D : \ e :
(4) B,C 8A» D NG

Consider the following statements -
A. Tropospheric ozone is a greenhouse gas
B. The 1987 N ot - '
obel Prize in Chemistry was awarded for research on the Ozone hole.
C. The Ozone hole was first discovered ovkr|Antarctica.
Which of the above statements are correct 2

(1) A and C only © (2) AandBonly

) A, Band C &% (4) Band C only
& (808 §SO HOeIod0d : ;L

Pl

A ()08 48T 28 ASTR AW 1
B. SFrohH T QoS 1987 SBS 23003 ?.%‘5 S0IS0D HBITBSIF ©HONV0R.

C. @0er8)e35 R I &ES 800 EHFIDA0E.

2 550 D DO ? |
(1) A SHOOSD C S| @ ASBOSM B SIS
4) B OO C S5

(3) A, BSOS C

Eutrophication is a process in which a water body :

(1) gets enriched with nutrients. |
etals. s

i

(2) gets polluted with toxic m M E'

(3) becomes clean and potable. 3’"‘“

(4) becomes deficient in nutrients. ) v;

OO DA 2] LE»’JLéoﬁbe'S6 DEI SISOV .

1) @‘;lsvog HH0DNL0 (enrich) @9@@0&;:;?;

(2) DAY O SiFerS §ennSO0 00, 4L ot

8) HSorr LHBO8® L@‘(Sa"ébé ©9SHPrO0T é@gﬁ) :

(4) AT S'Ho (deﬁcient) @Q)éoo&.
%‘é@.
Bl

(33)




SR SRR RS SY R

i d Reason (R).
97. Two statements are marked as Assertion (A) an

0

f ot aching Earth’s sy,
Assertion (4) : due to increased UV radiation re acg,

. ion is a concern
Stratospheric ozone depletion is

ich cat
Reason (R) : the stratosphere, which catalygeg th,

ine atoms in
Chlorofluorocarbons (CFCs) release chlorine

breakdown of ozone molecules. . ——
Choose the most appropriate option from the 0 % lanation of (A).
(1) Both (A) and (R) are true, but (R) is not the correct exp

(2) Both (A)and (R) are true and (R) is the correct Q?;planation of (A).
(3) (A) is false, but (R) is true. |

(4) (A) is true, but (R) is false. ” _

B0 & sarsey ¢35t (4) HOXW SCealv (R) ™ {?}:QO@& '

ggggg&a 58S §ove ©TO Arad Ty ﬁf?:_éé@o@g BOR 1T DTS, B0 Sl
30808, :..r';

5°C€9a50 (R) :

Iz
|PESS00S" FEFEe5)S en (CFCs) S K)Géf%&)&é)o@ Do Byan, e LES ey,

QDT &(EISE HSow.
B0t T3 eeh5088 S DD YR, A0 FOS :
(1) (&) 80 (R) Bockr HOTN S (A) Ty, DO DS (R) 5650,
@ (&) OO (R) Bocks HOZS SO (A) Tany, HOTS DS (R). ‘
B) (4) SBWSE 5%, S (R) OB,
@) (8) SODXIA, ] (R) HOTSEA ¢,

98. Arrange the following
A. Kyoto Protocol ™
B. Paris Agreement : ' - ‘;
C. Montreal Protocol

D. Stockholm Convention on Persistent Organic Pog‘utants
Choose the correct answer : ;

(1) C,D,B, A (2) AB,C,D (3) S:é, C,B,D

808 Homs38en DS SHBA%Y EEeS 0% FoErSOTSom NS0 :
A S 19SS i

B. 8 eoAR00s :‘;

C. IrolBoHs |&ress

D. Q8088 oA e SOFO ¥6 5% HSr3io

QOB S AIPETR) JOLHTSS -

@ C,D,B,A 2 AB,CD (3). AC,B,D )

99. Arrange the environmental movements in Indig i

(4) Appiko Movement, Narmada Bachao Movement;
578 BFOSD HUIEE 3550 aed ey BSrSoRtS0mT 88308 -
@ DY &S50, PBOES >3O €5¢35:00, ®)F egé&;?ﬁo, IBT> St 500
@) DB 5O encssi$00, D, rehno, ey GEENO, SE1 oS &S50
(3) SBI T 655500, PBOES arsd) S50, DM eessatno, O G950
(4) ®)F E5CI50, SEIT DTS eessn0, QL &égﬁf{qo‘ VB80S 3 ed 0

Environmental Conventions and Protocols in chronological order :

(4) C’ Aa D’ B
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101.

102.

According to Environment
Jlutants ? al Protection A . . o
gency (EPA), which of the following are the criteria for air

A. particulate matter
monoxide)

B. (€O (Carbon

. N2O (Nitrous oxide)
Choosé the correct answer : D. Ground Jevel Ozone
() B, Cand D only.
® A5 Craal D (2) A,BandD only
4) A,Cand D only
35 DD Hreo (Criteria) 7

V. éém l 3ee)
Ov o)@éiw ()c(\o) (EI 1&) oS 6&) J‘Cﬁl) & S"és Oéo L-
) S ' Q)‘S

A. 49 9(9@ 5‘@)03,"8@ {Partic

1
o NgO S 65)5) ulate matter) i Bﬂ CO (58 3730
E()p_(s Kléﬁ"w"éo Qog&g‘@m : ‘m S F?'O.D Zuﬁs(s
T elehedas U o p 0o DTS
( , B, D ! s
7 otd) A, Co00»D P

ack Carbon
f cooking

Consider the following Sta%ements with regardﬁ% Bl

A. Th;a }rlnan} sources of Bfack Carbon (BC) am}gpen biomass purni
and heating, and fossil fuel combustion in vfp icles
_ , vel !

B CREEACEC agricultural areas during dry ‘seasons in developing countries results inr

considerable amount of Black Carbon each year.
Which of the above statements is/are correct ?

ng, residential purning 0

elease of

SO é@ﬁeﬁg&oé 3
B SATADE0

5 B0 SO (9

J
e $0 (Pollution), 23 (Population) LB @38

sive Species), ROV (Pollution), TV

(1) B o-nly @ Aonly
(3) Neither A nor B (4) BothA and B
s SRR $0206500 (808 &
A @8 6 (BO) T8y DTS IS : & ﬁ&r&ﬁs"f\) <yoten, a¥IS Q H08 5
£ ST T DO <8080 TS 378 B0 Bird0.
et
B. @I& T0HEND) Srod 6 535 ©& dry seasons) 3505 0% @“O@"O@G 3
£0568 350 HEIROHTD Spdos & SIS @;5) o ot @08,
2 TS BN HDIOD? P
(1) B & {® A S(S
3) A S0 B BOKT 50 (@ ASOXWB Body
In ecology, HIPPO stands for :
(1) Herbivores, Industries, Pollution, Population, Over-Harvesting
(2) Habitat Destruction; Invasive Species, Pollution, Population and Over-Harvesting
(3) Habitat Destruction, Indicator Species, Pollution, Pathogens and Over-grazing
(4) Humans Industries, Pathogens Parasites, Organic Wastes
’ ) i ,
85580 TR0 (ecology) HIPPO ©0® "
(1) _?15"5355 (oN (Herbivores), ;)5@35303 (IndustnesE;i
HoeS'e (Over-Harvesting) . o
2) Dard D500 (Habites Destruction): & &%?@@ (Inva
(Population) 200 & & 5065 ‘QV“'HQ‘,;;@ ting)
(3) dTD AP $0N0 (Habitat Destructlgr%){) - ﬁ@éﬁ ?8@ (Indicator Species); 5ee0$O (Pollution),
P3O thogens) 0% w8 S I ver-grazing)
(4) g;fg;f e?)}l(u;axfsg), HBFN (Industrlesz/,"f FIRTET (Pathogens), BT BN (Parasites),
‘?\30@03) IO (Organic Wastes) ’x’j)
OpAD0]
(35) %%ﬁ

e



103.

104.

105.

E] (36 @42
’ | 5

.

) North-East

Suppose that B
A * B means A is to the South of B,

A + B means A is to the North of B,

A % B means A is to the East of B,
—F{g-gqufdﬁtanrom Q anq 8,
is

] t of B.
and A - B means A is to the Wes distant from P an‘Lﬁ,}

.0 i ui
If P is exactly in the middle of S and T; Q l; ‘i;(llle direction of Q from E
then given th tP-Q*R%S+1 \ West
given the statemen .+ (4) Sout.
A

(9)North-West (3) South-East
A*B @0t B % 585 B85S 550 A ©, B
A +B @0 B $ &30 &S DA o, ;}555‘ P
A % B 0% B & $r&)d &5d)0 A &, 7

So80K A - B e90%) B & 955088 5518 A © egfogod. .
R
& ";' {J
W ¢

S 08050 T x50 SO K55 81O v

P 308050 R © &0& HevrdosS &) O Q;

Q 90805 S © 508 HEFEOS” O P;
BODFOB), DY (DSISOP-Q*R %S + T, (D
(1) &S50 (2) OIS0

(A, B, L, 6) represents that L is the distance (in km) from A to B in the direction 0.
Given that (A, B, 5, East), (B, C, 4, South), (D, E, 8, North), (E, F, 3, West), (F, G, 4, North),

(G, H, 8, West), (C, D, 3, East). -
i

Then’ (B’ H: Lr e) = sw“.,é
(1) (B, H, 843, North) ¢(2) (B, H, 82, South-East)

Jﬂ&
(3) (B, H, 83, South) “4) (B, H, 82, North-West)

)
A 0% B 86 &3S’ o> 3330 L E..)od (A, B, 146) Sor 0. (A, B, 5, 525 ). (B, C, 4, 58 £0), (D, E, 8
&280), (B, F, 3, 558), (F, G, 4, &0), (G, H, 8/0800), (C, D, 3, $5%)) @0 235523338,

L

@;’Qé} (B, H, L, 6) = Yoaf

'
e

580 T 08 Q &oBo? :
(3) emo%ho @ T

B B, H,8+3, a80) Q'ﬂé) (B, H, 842, esify a%0)
(3) (B,H, 843, 5§ e0) @ BH 82, romsso)
fali;fef i(;'p}lssAv,vi]?é,%ng ;ﬂ ?s 2:;131:3; :fpgn %".}IA lntrod}1 ces E to his daughter B as the wife of the
sponse of A D - Then how is A related to D if one of these five is the
(1) Grandfather [
(2) Brother-in-]
3) Broth G A
(8) Brother “(4) Grandson

M 558w A, B, C, D 580k | e 1,
’ 28 PSS, A o8
2355 TBVE), SO|BE 218 , A S o3 B
§ B8y SR8 orsg @@e§>oa&, D & ¢ s DBOH0 Ty, L E800 Taody, el &
B 2300 @S, D & A VNV Ty O TS, Sa 0COHBS® 2,88, A BB

M S8

(3) FSHH &
(;,;gjx) 3¢
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106.

107.

108.

109.

Y e A 1 -t '
-L.-\L

*r -
Letters of English alphabet from At 2\ = 14
0 7 are successively represented by the numbers 26 to 1. By

using the above rule, if
the ¢ »
word ‘CAT’ is coded as 57, then codes of the two words ‘SUSPECT’ and
0

‘OBVIOUS’ are respectively :
(7 11

(1) 86, 82
(2) 90,86 @) 89,93 (4) 86,86 g

&0l SEIrOS' A
®OOIB0D ‘CAT @—? 0B Z 50700 SEIM 26 of 1 H85 O Howgerd HrHodd. B DS,
D) b7 & Y, ‘SUSPECT HOON OBVIOUS &5 Dot Hire g6 o

SO ?
(1) 86,82
(2) 90, 86 (3) 89, 93 (4) 86, 86
Replace the mi .
e misfit number in the following series with a suitable number from the options :

1, 6, 13, 22, 37, 54, 73
(;) &15% o @ 7 1y @ 39
(508 FBRS” NS 0§D EOFR A ;gocs A pDIFOS HO S0

1,6, 13, 22, 37, 54, 73 &

1) 15 (2) 7 (%]
o1 3 39

(4) 24
) CS"K)@G La)a;g’a)ra wa 4‘069 .

(4) 24

In a code language FORMAT is coded as€23456 MATINY is coded as 456789; PRAJAY is coded as

#35$59 and BRAIN is coded as %3578. fﬁ;\,
Each vowel in the word AFF [RMATION is replaced by the next letter and

the word fixed, then a new word is formed.

keeping the consonants in

Then the code of this new word thus obtained in the given coded languageis: A~ S
(1) %22$34%6#$8 - KW N3yioEae @ $11#4386848
3) .$11%34$8#$6 (@) %11$34%65#8

255G AR FORMAT O 123456 Y TINY e536 456789 T%; PRAJAY @30 #35859 el SHdak

BRAIN 03O %3578 M5 a‘ossaac%éz) ;i:«

AFFIRMATION 5508 D ¢ @mgm CJ"c‘O{éo" v Sro o 2.8 §2

<8 98508, DBFTDS B, &

ww&'; éoﬁré) 3@"60 @

¢ 550 T8 §6 -
(2) $11#4336%#8

(4) %11$34%6$#8

az‘l),)(é o) a;‘aeS‘ eoer FOOS &
(1) %22$34%6#$8

3) $11%34$8#$6
1 t d ‘mee nee he®’ means tea
l » see’ means ‘food is tasty’ an k ‘ ~

If ‘bee pee s€€ see mean
hat language m

@gpf od’, then wh1ch words int
(2) beeree meoz‘j

ean ‘cook tasty tea’ ?
we- Wet
(8) see ree bee (4) pee ree nee

(1) pee nee mee
D), ‘ree ﬁmée see’ @O food is tasty @, ‘mee nee bee’ ©OD) ‘tea is good’

o ‘cook good food” &
‘cook tagkg?r tea’ @&é)ébo& ?

‘bee pee see’ &
9 ef0 oNS & s BR ©0
(2) bee ree mee “‘41 see ree bee \}Y pee ree nee

(1)\ p€e nee mee
Elr 3

_ c0°‘
et

S/’
,,f@;/ @W
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110.

™\

111.

112,

1
o cond et
e is*second talles
b jiv and Manish are of th
akash and elder to Rajiv.
ing orde

than Rajiv. Prakash .
l Y

but Rajiv is the tq)) S

1 height but younger ‘
gt

There iS a group Of five boys. st e same age

taller than Manish but younger in & P'r
among all five. Nishant is taller than

ir heights, then in yy.
If de t stand in & TOW in increasi r of their heig T Whigy
these five boys are made t0

position does the eldest boy stand ? th it 4) 3rd position

(1) 24 position () 1% position (3) 4 ;09;'&01;» 3 TBS 86 BOCS OS50S ey
v S 83) WY e 2

DS 2rend HATETO SO, S0y TS 502 45 SO0 D O o3

v % 8, ABIFW. T
: ; -
553 080 83y Sabio® aélw'—maé‘ ©90BBES) RS . (957 80 JX0S TS0 SIHF, i

SOHL0) EOTBSDH 638 TS & DD

TS 83 S0 DI ) ; a

& soésmld) eyo.)géo 5 e e E00S 28 s denS' BAB, O FI0S @808 3
> i

SO0 o s e G ? I S

1) 25 %0 @ 1330 ) 43{‘3‘:‘@%0 @ 33

Consider the following statements :

L
(i) N is the grand-daughter of Y and W is the SISter-l\gi-law of G.

(i) U is the father of E and U has no daughters.
(iii) D has no sisters and B is the daughter of the brotl;l‘pr of D.
(iv) F is the son of H and H is the spouse of I (i

(v) N is the daughter of E and D is the only brother of E.

(vi) H is the mother of G and E is the spouse of G.

How is the father of G related to W ? :
(2) Grandfather (3) Brother-in-law - (4) Father-in-law

(1) Son
||
B0B DIV HBKEBOIO :
() Y 5 Sd50en N 005 G G008 SO (B8 HSSesyW. #7.° o .
(i) E gy Sold U 5005 U & réseoy B, o \ )
(i) D & FeSBSoeen Bt BN D Tk FSH S5 B. e ! @
(iv) H G308, §057858% F 50050 1 T8y, 4é aresm:i_’gh. @ N ptla
() E 38 HIr3N SO0 E oG J5E FOGE Dy g\ &8 i
) G Tty SO H 00k 6Tty A arirgm. | 2V ) o) (‘E: e
G D308} S0IA W 50 dsFachd ? Af Ny oot € i | =P
(1) %o (2) & (BR  23°5/2375088 @/ S;éanvéa NX@L’)
P e

’If tthehsecor;d lelette?‘f E and the' fourth letter ‘E’ from the left in the word NECE%S;‘%%Y were
;‘le‘;rcina:}f n’e:v 1sof1 SD‘Zh and e1g1.1t letters and thd third and seventh letters \;vér:awi(r;te;rZﬁanged, ‘

e y formed word which of the followintg’would be the third let i he
letter which is second to the left of R ? e etter to the right of ¢

- 1 > \ S

d) C @ A @ @ @ B peagske A

Sr8m 3B D308 (808 TS D e 8o ¥ )
R : v
S BSOS oo ? BLE0I8Y)AK3 Dol T30S’ &5y ey 008 HETH
1) C 2 A
2wt 3) s
. | @ R
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113. Five men A, B, C, D and E (not necessarily in the same order)

114.

are sitting iN @ YOW oppogite t4 five
t necessarily in the same order, The
he left of S. D 18 oPposite to p, g
ft of D. E is at the jeft

women P, Q, 3, 8, T \.’vho are sitting in a row facing North, no
T;vom:m opp(?s1te to C is to the immediate right of T. P is gecond to t
5 zo f(g)lposme ’to Sand T. Q is opposite to the man who is to the immediate le
end of the men’s row. The persons opposite to C and Q are respectively:

(1) T,B (2) R,B . ‘ 3) S,D @) AP

[

SSTDIVPOT 2.8 HHIS® Er6)S) DS Skre@S P, @ B 5
o G508 FOHTE0 Bes)

2‘,&2 AEED™ DESSHS DeoHHE eA, B, €, D 00 B e | s
T, € 8 DT iy SR T o BpTowS b (83 @00, 8 635 (D88 BOB TS0
; % AT S, D B 3D Foed

&) Y P. P SO0 D. B eckissh S 5005 T
DNDRY YBIVAE ARSI &), DI e (%j,,f;g)d;@@ 25065 DB
$805) Q ©5 ST GSYTE SBT

1) T, B (g/R’ B @) S, D

(985 DGO %38 E. @@ C
4) AP

the question. You have to take the three

Three statements followed by two conclusions are given in
ue even if they seem to be at variance from commonly known facts and

given statements to be tr
atements :

decide which of the given conclusion(s) logically follow(s) the st
Statements : : L

No bus is a car. _ Lot

All cars are scooters. o @

Some scooters are cycles. ) ,
Conclusions : :’? °

I. Some cycles are definitely cars. ¥ ;,h, N @ 5
II. No caris a cycle.w_ :; @ -
Choose the correct answer : 1,

(1) Only conclusion II follows. &‘;

~ (2) Only conclusion I follows.

(3) Neither conclusion I nor conclusion II follows.
(4) Both the conclusions I and 11 follow.

808 (%) DSSTeeD, 3K So&T 8o
B0 SOV HErsody Grdom 3157638, A0S (DSSTOD &0y 80 &

E08%08.
(3a52307EV [
9 ) e 55 5°C. cx
S @) S, 808. o
£y ot D8 e
S0A0)EV

[ £ RO

240 SR AN SDTFON. PETARMICSINRINOV OHTFTRS,
55803 SNA0ION

) OISO s®. )

IL 5d e 286 5. S
OB DIPETRVL Do TS0 : 2
(1;— Spho) II RGN @‘61‘66,@0&'

(2) Swofo1 G €9 DBR 0. ,

(3) ;ﬁDﬁOK))OD 1 &OOSD 11 BOC® @ DNB0DN).
(4) ;5))6019)@0 I @501533 11 BO&»® OO ON.

(39) gég
[, o
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t cause-effect relationShip’ how are these tw,
ce 10 0

ith r
115, Two Statements are given below- Wi

ntially.
statements related ? s decreased gubsta y

structed f1at8 bz

tatement I: ewly con _
rom the last one year, the gales of neW. Vionthly [nstalments (EMI) to banks regularly fro
gtatement II: . house loan Equated o
ustomers are not paying oL
the last few months. rect ? | J
.3 2 ls c . | s’
Which of the following i ffoct. 53

(1) Iis the cause and 111 ,
(2) 1I is the cause and I is the eﬁ"ec;1 ocatises , | 4
(3) I and II are the effects of the S-ad endent causé %0
(4) 1 and II are the effects 0 boli 3 egsoo (TP Soars & 0o
1805 DOk (HSTSTen BB SF SO i

BON0EG ? J‘"‘“- P
(DSSS01 - Q%’»i’(‘ﬁgg(ﬁd)oﬁ" $NF .
tied D0 )8 SO @

(93330 - 0I5 HODOHO
K £ ST IITPHTEOD 2 ©J)

2750580 HOM TOOTIRO .
1808 8BS IO IJIB? -
1) IS°580 ST SO & @f’f > 2, I.

@ IT5680 S 000 TR SR L

3) T 5HB0%w II e 28 RO (oozooébojﬁr6 L%&?&T’ :

@) T S5080%0 II e o DI FOETE B _ , I
116. A statement followed by three; arguments 18 glvegjelov"- Identify which of the argu (s) is/ar:
strong to support the statement. %52 ,

Stat t: "‘ ] issi
atemen o the professional courses“{ﬁk allawed not through ranks in admission test

Should ithe ddmissions t: g
but by the marks obtainéd in qualifying examinatio#f ?

Arguments :’ e

L~ Yes. It is beneficial to the students who cannot gear the fee for admission tests.
II. Yes. Many students who get good marks in qu%itj_fying examinations are not getting through the

admission tests. . ;
II1. No. The qualifying examinations conducted @ several Universities or Boards do not hav

common standard in conducting exams and evaluation procedures. Hence, it is necessary to hav
a common evaluation of the knowledge of the students aspiring for admission into professiona

(DSDTO 20655 11> 00K

s DBSDO TS © O

£32) BOBS 2 HSrS SO SN (EMI) o,
Q08 2

courses.
Choose the correct answer :
(1) I, IT and III are strong arguments. (2) TandII t
) nly I s o srong agument (1) Only s s Strong atpanent,
, C° [OYA) Z ¢ ¢ -
& 5o 50 B foBoS08, TSI 806 ASFABID. DO/ FRS(EN) VDS DI 18T
@5%&5,60 P ]
398 s FOYOS (HITIF (935 & 0
Al 006 N
3578030 B0 (5T §O)0:S5e) ?goé‘&) o’t}z& B0 SHOW, s HBFOS Qo
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HOFIR) HBE 0 2, 528 D3FR), 8ISy A5 H0220HOND RS

OB DIFTTVY DODE By ©$08S AGrd0 ©550
R
(S 2OT0S e, 23* 1308050 IT €0 2050 a3 be
4) = )
- II &3 20D &S,
(40) %
| @rﬁz




' TR AR
tatement followed
gifs A8 wed by thre : _
the statement. € assumptions are given below. Identify which o

f them are implicit in

Statement :

In an appoi 3
ppointment order from a company the following is mentioned :

our appointment in this job will be ma4e regular after one year, if your performance appraisal by

your supervisor is positive.” P
e

' e
Assumptions : W
ol

I. The job will not be made permanent befbre one year.

II. The suitability of the candidate is not l;i;own at the time of appointment.
II1. Temporary jobs need not require any }fg@formance appraisal.

Which of the assumptions are implicit in the statement ?

(1) None of the three are implicit

(2) All the three I, II and III are implicit
(3) Only I and II are implicit

(4) Only II and III are implicit

& 1%L
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: hich of the course(s) of
A pelow. Identify W ac
tion is given

tio
urses of 8¢

the statemen®:

118. A statement followed by two ¢0
to follow to address the issue in
Statement -

8 ur manufacturers are facing very
ourses of action : i
L Gover];ment should give .attracfi]ucts
production, to produce quality Pro% e polici
II. Government should devise innovatll‘l' wed to
Which course(s) of action is/are t0 be fo Q
(1) Only II to follow
(3) None of I and II to follow
28 (HSTSS0 3@3?3660%
WVEJ(eW) @O0 S HBowre).
o DSBS’ 0 BSIWOD BSOS EOIHS IR ABoturvyy

n to sell their products in iEEaaliona] markets

tough competfitio
es to the ma
d toreduce prices.
i e&which include tax c;’uts,
address the problem

5+ Only I to follow
g)j{ Both I and II to follow

gDy SOED BHPFOD, WIBIOTD B0 Kooy,
x))

nufacturers in lowering Costg
of

to support indus'crialiSsts

(9e3e3:50

DS SATETHED OSTS Lt

;Sdb% :) 3 e SoESRE TRDS &b )eRe S$05rH8 oﬁogoﬁ» T3 Ben SB0ydm™ Goder;
5258 50 GNP FTHTTOD ey é@%ow@ &rroB0Td

L B FDESses G T 00 §§ ol “’bg’g? SRe '
% Sy % s DO/ LIBH(E0)D @ Sy

QDR VTSRS AB/ G T S 6% oo

DI DO e - %
(1) IT S5S I8 (4], 150805 IT Bor H080eTO

(3) 130805 IT e Bodr ©NIB0e) g . ) .
A statement followed by three conclusions arié:é"given below. Decide which of the conclusion
]

119.
follow(s) from the statement. Wl
Statement : ﬁs : T 3
P, Q, R are three women and L, M, N are the husE@.nds of P, Q,-R not necessarily in the same order,
Three persons X, Y, Z, each made'two statements}but of these two, one is false and one is true.
X : Pis not the wife of M. R is not the wife of L. ‘=
Y : Pis not the wife of N. Q is the wife of M.
Z : Q is the wife of N. R is not the wife of N
Conclusions : ' >
L. Ris the wife of L. / Il.  Qis not the wife of N.
ITI. Q is the wife of M. IV. Pis not the wife of L.’
Which of the following is true ?
(1) L II, III only follow (2)_ I, II, IV only follow
;3; O:?fsy é §‘§‘°§;5 - o @) AILIIL I, IV follow
28 éa@&r QQQDO%% = Qe SwAogyen a%%ga)g‘oa). FDIS (DIDVS0 oA D SwAoHEer
(6352350 - o
o)

DTEES e0de850.

X: M&»éz,e,rngs'm.Lméz,&Pé R 5%
Y: Ndingz,a,régPs"css.Mméz, aréng '
Z: N Q3% 2785 Q. N B, 23 -
Sesen. & &0§ R 5°¢%.

L LG8 ardsR.

II. M G308 2785 Q.

8od 835" B Daso 2

@) LII, III e S OBy

3) IS ©HI6008

b
0 8 ZGen (6983 (5065 $8e5950 S)
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120.

—> TS Sopg

2

The following bar di
out of a totalgof eoo})agggéﬁtmws the nur_nber of boys in each of the six schools A, B,C,D,Eand F
s, and the pie chart given below gives the percentage wise distribution

of students i i
ts in each of these six schools out of a total of 6000 students:

12001
11004 T
100071
£ 9001 _
S 8001
5 T700%
£ o
Z 500¢
I 400 +
300+
200 +
1004
ol 1
A B C D E F Iy
——> Schools 4 . 3
Observe the above diagrams carefully 4id match the items of List [ with the items of List 11 :
List I i List 11
A. The difference between the number of Hays and the number of girls in the School Cis L 1340
B. The number of boys in School B is less“'ﬂii‘an the number of gtudents in School E by . 380
C. The difference between the number of gitls in school D and the number of boys in Imn. 40
school F is el
D. The difference between the number of girls in school F and the number of girls in Iv. 60
school A is :
V. 240

@) AL B-V; c-1v; D-III

Choose the correct answer :
(4) A-V; B-L; C-I1; D-III

(1) A-II; B-I; C-IV; D-V L

5 Hopso 8od 2417

(3) A-V; B-I; C-III; D-IV ‘
e FEFOBS A, B, C, D, E 580 F o Sugo dorsPen 6090 S 2ren
%)Léo )08, sﬁagroﬁ» Swnedo 6000 qgs»;q;oes‘ & 8N 33"(56"&)65 DO HOPSOD FHINO >
(8od ' (pie) )50 )0 m;

L20 e

11001 ] é:é

10001

wop  af

800 +

700

600 L

5001

400 T

3001

200+

oot | LR [

2 B C D E T L,
DO w@?ggﬁ?@oa e | Sy osd whe 1 SO 73S, e TOHOR
oy el D1l
ety
A >oTe CS wedd Sopsty, rDEQ oS AV B%o: - ~ L 1340
B, >6T©BSA 23°e0 8 DODS: ro7eE O D sEH© HoPs S0 ST % 1. 380
B ik '
o e D & rdse HowsS e F SO TR0 Dopg$o fio 260 | L 40
D. é7Te FS oo Som5E, FETO A S 2rOEe HoP§ fie B0 V. 60
V. 240
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(3) AV: BL C.IIL DIV & AV, B CIL; DI )

SO
(43) ] ‘,@




thousands of units) by a car-making company Aj

(in , »
121. The graph given below shows the sale O[f]zagven pelow shows the-ratio of production of cars to g ales
the years 2020 through 2023 and the t:h e graph and table carefully and answer the question.
in the years 2020 through 2023. Study
18 r
15 1
g 1271
& .
1 ]
1 e
37T ".‘N‘
N 1 > "%
2020 2021 2022 2023 ‘U
Year &
Year | Production : Sales &)
2020 3:2 4 w
2021 4:3
2022 7:6
2023 5:8
If the average production in these four years is x arld the average sales in these four years is y, then
X:yis: ;}53
(1) 19:14 2 9:7 3) 65 (4) 20:15

2020 0B 2023 H0SSYTOS 28 8 S §o?)<§:f 2629 58 @850 (F0S) ST 0D 8od
BPP(50 Y0 SHBOSH 2020 0B 2023 K)O&Sé,;@@é‘ & 50 5°8 &HB8 HOO 05OH ey
AABOD 1808 HEE SenHHod. (™Y, ;Sbboﬁwviﬁféﬁééo ST PsohIo T (8od 1D H
DIFEESS 08, F

S
)

]

15 +
3 121
)
3 9
d
6‘ Pr—
i
1 H
; y . g
2020 2021 2022 2023 Iy
00Se )80 ?f
t $6 7
R0IS)B0 | & 8 : edsdnysen i
i

5.
& TP VOIS YOS Rudbo 58 y
R0, © Y sy 50 Sen cres )& x HBAK &8 T H0NBITOS” DS @ 5ves S y
1901 @ 9:7 3 6:5 4) 20:15 |

P ' -
- (44 ) | %%%




T

122.

123.

124.

125.

In which of the following years does 29th feh ruary fall on & S8 parday 7

(1) 2036 .
(2) 2044 (3) 2062 (4) 2048

BOBTIS® D H0XSJE0S Di2rsd 205 BA $DE0 SQOO ?
i § =

@ 2036 (2) 2044 b 2052 (4) 2048

in. and the hands of the clock coincide

47-5° is the angle between the hands of a cloc;;’léiat 3 hrs k min,
L
£

ok

with each other at 3 hrs / min.

Ifk>/,thenk+![=
2 1 Vi
(1) 45= Ea (4) =
11 (2) 24 T (3) 2511 11
55050 3 §o. k D, ©ANSHH 2.8 HATE0S'D Bodh 0¥ SocosEe0 4757 3 110 1 . SV &
5] @oNd, k+1=

HAOTEY DO S0y 2LETS SHEEE DEBINTYoW. k
2 1 7 ———4
1) 45-= - — 5 4
T @ 2477 ® 2547 ( g1

r
A student found the 1357t day from 1°¢ Ma?eh 1998 as

t s

15t March, 1998 which falls on Thursday is:
“;@2) 3rd March, 1998

{ﬁ}[é) 5th March, 1998

Friday. Then the immediate date after

(1) 224 March, 1998

(3) 4t March, 1998

3r8) 1, 1998 B6 08 1357 S o 2.8 &)a"g@ %Léa?éon' %80T, N S0 1, 1998 36 ST 3B

5&30&(’3 33 S T8y 8&:
S (@) Sr8)38,1998

@) Sr8)5,1998

1) Sr8)2,1998
3) Sr8)4,1998

A watch loses 2 minutes for every 12 hours. 1he
n the immediate coming E’hday,

3) 10:42 a.m. on Friday

At the time 11 p.m. 0 the faulty watch shows the time :

(1) 10:42 a.m. on Saturday

S
(3) 11:18 a.m. on Saturday 3:1) 10:42 p.m. on Friday

2 Aaren é@z,én‘ Hra)eod. & HAATTRY P3P0 &Sodo 11

2,8 BBOSFE0 (D& 12 {STASEN
S08. @‘ém"éo éém'é Jood 3T HETso T Too@ 11 oo

Koeredy OB HSHoHody OO

B3OS, € S KBOSTE0 LD HDHONO
2) HESB0 &. 10:42

(1) 380 ¢ts. 10:42
@) HEG0 U 10:42

(45) %&E
| ', o

(3) 3Qar80 G. 11:18




: ions representg thi
TM
126.  If the following g : folded to for

g figure is

127,

128,

4
’
SRR <
2 (4) hﬂ
odB)
M @) hﬂ 4’{3 hﬂ
U) « VA . & 2
a ' DB 88 ), RSO ?
D HAD 28 o SArHT R, BodPDFOS
5]

fieon
|
e, St

$od S0

ot

o~

S500.3 5°¢%. C Q08 S 7 Q0a3¢8 YorerEy 3503 o DB 10 Q038 YorerE) VIS Woes
G0N A 58K B e DP$ ABS 0K ST 250 -

(1) 7 30s5¢8 yomey @) 10 Q0S¢ yorey 3 15 Q03¢ yorex 4) 19 Q0S¢ yoren

A8y S0 TP B 83 D0y sy 005 $& B 5108; S0y 0 3308 S0%:0%0 3 B8 €5y

There are 216 cubes each of side 1 unit, Exe pj 3 adjacent faces, all other 3 faces of each cube are
painted with red coloyr. These cubes are joine Zogether to form g big cube of side 6 units such thata
border of 1 unit width around each face hag tg e with no req colour. All the other parts of each face
should be in red colour. Then the numper of gribes that are not a part of the border of each of the
faces is : 5%

(1) 180 (2 176 H3) 124 (4) 160
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129. Which of the followin.

, g sente
A. Mr. Atanu’s computer, asn:::]]h

as o
B. Many of us mak. /have subject in agreement with verb ?
. m
ake NeW YeaIJs

as i
reqollts programs, are out of date.
S lltujm#, but few of us keep them.

(1) C only 10
2 2
) A and C win @3) B only (4) Aand B

130. Which of the followi i
(1) Alarge numberuolfgtzzlgfnces has an appropriate subject-verb agreement ?
(2) Two thousand ru ers has Problefns with continuous assessment.
(8) Either she or herpl;areostlslzim‘s atr easma‘b} price for this.
S is attending t .
(4) Bread and butter were served af ﬁ?‘;gif?aset) S

81. Which of i
1 of the following sentences has an incorrect passive form/voice ?

Eg %hll succegsful candidates will be notified by post.
. Anet}?eetmg was attended by salesmen from all the regions.
e bananas have eaten by the monkeys.

(4) I want to know how these substances are absorbed by the body.

132. Choose t}le cor.rect alternative that transfofms the following sentence into reported speech.
“We won’t eat it now, but we may have it f6r lunch tomorrow,” said Sudesh.
Sudesh said that I
(1) they wouldn’t eat it now, but they mighf have it for lunch the following day.
(2) they wouldn’t eat it then, but they maghave it for lunch the next day.
(3) they wouldn’t eat it then, but they mighit have it for lunch the next day.
(4) they wouldn’t eat it then, but they may have it for lunch tomorrow.

[

133. Identify the correct mapping of the underlitfed word in the following sentences with its antonym.
A. The verbose explanation given by the lawyer was quite difficult tobe L Fallible
understood by a lay-person.

B. Their method of functioning was extremely impeccable. . II. Self-centred
C. This city’s pollution problem was alleviated by the sudden shower. III. Unpoised
D. The CEO of the company was an even-tempered person. IV. Succinct

E. The child’s altruistic act surprised all. V. Intensified
Choose the correct answer : ‘

(1) A-IIL;, B-IV; C-IL; D-V; E-I g"’g (2¥ A-IV; B-I; C-V; D-III; E-II

(3) A-II; B-I; C-IV; D-V; E-III -5 (@ AIV; BIIL C-I; D-I; E-V

o
134. Which of the following sentences is/are gré,i‘jnmatically correct with reference to tense ?
A. If you were an avid reader, you will tajs§ special interest in this project.
B. If he is a voracious reader of historicatzovels, he will read a lot of them eagerly and quickly.
C. Had he had a prodigious memory, he aan have impressed everyone.
D. If she works hard, she will enjoy the fryijts later.
Choose the correct answer : )

(1) Band C (2) AandC (3) BandD (4) AandD
135. Fill in the blanks with suitable form of the verb from the options given below.
‘Thegirl ____ coins from her piggy bank for quite some time before she of buying a
toy for herself.
Choose the correct answer :
(¥f had been counting, thought (2) had counted, had thought

(4) has counted, had thought

(47) lg‘%%

P [mpel

(3) counted, has thought




S RN SRR WS AP ‘

136.

137.

138.

139.

140.

.. talks to complete the disengagemept Procey .
ate to maintain regular contaet

diplom
India and China held another round of diP -

brea
Eastern Ladakh and in the A Of;?:l ——— .
diplomatic and military channels D _bo A. B, C and D respectively :
Choose the correct option to fill in the blanks 22)’ presence, allowed, by, or}ll fi

or
(1) dearth, accepted, from, at (4) absence, agreed, through,
i ithin, from A ' transacti :

(3) lack, permitted, within, fr ciod either attempted or successful _A : ctions iy
Several X Bank customers have rep | The Bank said that the transactions _C 4 X

rs
international merchants_B _the last few ye; of any breach and as the frauds were undertay,,
“BIN attack”. The Bank said there was no _1

: W rable.
with basic card information, the debited amounts»i%ere I:g):spectively :
D oo commet option to fill in the Planis A’(];;;if lzgitimate at, watched, combination
d, indication o , at, ; S
g; ﬁ.':‘uiﬂen:, Ol:e;, iﬁﬁiﬁiicaﬁon 4 f violent, through, viewed, nomination
silent, in, looked, i -
ing of the following jumbl§.,gi sentences to make a meaningful paragraph: |
A i developed the fi‘{'éjc pump that would give regular doses of medicin,
A. As an undergraduate Kamen develo

kthrough, B

to patients. L L
B Hep flies to work by helicopter, which he also uses for visiting his island off the coast of

Connecticut. ) ) )
C. The patent for this and other medical inventions has produced a huge income, allowing him t,

run his own research company which, among many other projects, has produced the iBot, the
world’s first wheelchair which can climb stairs.

D. Dean Kamen is a 50-year-old American eccentric who is also a multi-millionaire. t _

E. He always wears blue denim shirts and jeans%,‘?yen when visiting his friend, the President, in the
White House. « ) ,,

& &
Choose the correct answer : ke

(1) D,E,A B, C (2) D,AB,C,E (3§ D,B,A C,E - (4. D,E, B, A, C
Choose the correct order of jumbled sentences, sshich are marked P, Q, R, S, T from the options

given below to make it a meaningful paragraph. %gntence No. S1 and No. S7 are given to you as the
introductory and concluding sentences of the par?g‘)raph.

S1. We need to learn from nature.

When you don’t know your limitations, you go out and surprise yourself.
But the bumblebee doesn’t know that and it keeps flying.

The only limitations a person has are those that are self-imposed.

QHunmow

able to fly.
S7 - Don’t let education put limitations op you. r 1
Choose the correct answer - wld
(U T,QP,SR (2) T,Q,R, S,P ({%é* R,QT,P,S
Fill in the blanks in the following se J :

I usually spent three to four ni h :
ghts
numbers, plotting graphs, writing Presentati froi’n:home, and then workeq every weekend ___—

and a physical loy. onsf‘;’? was _____ all the time; it was an intellectual
(1) along, crunched, learnt, hj h };.;:' _
(8) away, have cruncheq, Jo - N (2?.‘?.? away, crunching, learning, high

) » ‘earnt, highey (4)  off, has crunched, learn, highest

opd
(ag) g
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142.

_ Fill in the blanks with articles i .
options :en below. in the following sentence. Choose the correct alternative from the
f went to ________ prison ____ ] -
 oster University. ot when I was ~__ student of social work at

(1) a, no article is required, no article is required, the
’

(2) the, a, the, the

(3) the, a, a, no article is required

(4) No article is required, a, a, the

Which of the following sentences have incorréct use of prepositions ?
A. Iordered for ten books. v

. )™
B. A nat}onal Jeader should communicate to his people effectively in the meeting.
C. My friends after their tour will return in th‘].% month.
D. They agreed with the project but disagreed;;zézith us.

Choose the answer : 3
(1) A,Cand D (2) AandD {tg. B,CandD (4) CandD
143. Choose the correct sequence of prepositions t%tiﬁ’iae gilled in the blanks in the following sentences to
make them meaningful. '
A. Could you hand these cookies with tea to the people in this meeting ?
B. Since she had broken the rules of the contest, Susheela had to hand the prize.
C. Please hand your passport at the office, it will be returned to you later.
D. The papers are signed by an official before Mng handed to the next department.
(1) on, in, back, around ﬂ(‘}) around, back, in, on
(3) in, on, around, back J£4) back, on, in, around
144. Fill in the blanks with suitable form of words fHm the options given below.
Next to him in came a vendor of fried é‘?;Oundnuts, who gave his ware a fancy name each day,
and people ______ to him. A portion ofthis before the astrologer too.
(1) vociferousness, flocked, considerate, was défiied
(2) vociferous, flocking, considerable, dallying
(8) vociferousness, flocked, considerable, dallied
(4) vocifer, flocked, considerability, dallied
145. The following three sentences: have an underlined word each. Identify the word from the given
options that is a synonym of all the three underlined words.
A. The public seems to have an insatiable apf)qﬁite for celebrity news.
B. Raj has had enough of his sister’s Ma_lis‘t_lg requirements.
C. A dragonfly and its larva are both voracioxfs’;eaters of their fellow creatures.
(1) greedy (2) gracious :ﬁ) hungry (4) grasping
146. Choose the correct alternative to fill in the blafiﬁgs in the following sentences.
‘Could you pass me piece of cloth ? I;y% spilt some milk on floor.’
@ a, the .
(2) No article is required, the
(3) the, the

(4) No article is required, No article is required

E4E
(49) Eéﬁ




-

147. Five sentences are given which are marked P, Q, R, S and T. |
following jumbled sentences to form a meaningful paragraph,

P. As with any type of service we intend to hire or outsoyrce (IT
commonly understood that we will be confronted with a marke
providers of varying quality and reliability.

Q. Others yet may simply be insincere or temporary businegs venture
or are acquired within a short period of time.

R. Some may offer attractive rates and terms, but may have up
proprietary environments.

S. Cloud computing is, at its essence, a form of service Provisioning.

T. Others may have a solid business background, but ma

dentify the correct sequence of the

-related or otherwise), it is
tplace comprised of service

s that unexpectedly disappear

proven husiness histories or highly

y demand higher rates and less flexible

terms. P
Choose the correct answer : 6
(1) S,P,Q,R, T @ PRT.QS {9 SPRTqQ 4 R,Q,S,PT
. )
148. Read the following passage carefully and choosgithe appropriate adjectives from the given choices to
fill in the blanks. ¥
One of the not so debates in modern éjgfz:iety is ‘whether I create my destiny or my destiny

creates me’. Many people believe that life m&¥es accordin:
regulated, governed, and controlled by some
course of life.

gtoa__ plan as all of us are
Power and authority that guides our

(1) modern; entire; pre-programmed; higher

(2)futile; pre-ordained; supreme; entire

(8) modern; pre-programmed; pre-ordained; leé%
e B

(4) careful; futile; higher; supreme *‘;1
ol

149. Read the following sentences carefully and idegfify the sentence(s) that has/have incorrect use of
adverb(s). e

A. John works very hard, seven days a week. it“
B. Tom drove careful along the narrow road. @i*}
C. Sita spoke extremely well, ]

D. We didn’t go out because it was raining heavily.
Choose the answer :

(1) Bonly (2 AandB (3) Donly (4) CandD
150. Match the type of conjunction with the sentencé}n which it is used and identify the correct mapping.
Conjunction Sentence s:i?
A. Addition L. Var_ibus writers havé;gxamined the issue, for instance, Van Exel (2000).
B. Result IL.  Although the conceptlis easy, it was difficult to answer the question.
C. Reason III. Furthermore, child ;;Qrtality rates must be examined.
D. Example IV. Prices are rising Wogléwide, thus encouraging investment.
E. Opposition V.

Owing to the strike, today’s classes are cancelled.
Choose the correct answer :

(1) A-IT; B-IIT; C-I; D-1IV; E-v

(2) A-IV; B-V; C-II; D-IIIL; E-I
(3) AV; B-IV; C-ITL; D-IL; E.1

(4y A-IIT; B-IV; C-V; D-I; E-IT

, -
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